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JL566 24,100 | 50% 21,900, H:30.200
HR (FE) =R R CAE)$ |_JL551 38200 | 18%
JL553 38200 | 18%
JL555 38200 | 18%
JL557 24700 | 47% |£:29.800. +:22.400. H:26.200
FEIIES JL552 23300 | 50% [:20.300. H:23.900
JL554 25500 | 45% |:28.500. £:26,000. F:26.100, H:26.800
JL556 38200 | 18%
JL558 25600 | 45% | :25.300, H:30.500
B CRE) =8I FR(HE) % | JL541 .400 47% :24.900
JL543 400 | 32% |%:35600. £:36.100, H:30,900
JL545 400 | 51% 4.200. +:22.200. H:26.100
EEES JL540 700 | 53% |%:24,000, £:26.900. H:23000
JL542 600 | 34% |£:30.900. £:30.000, H:31.800
JL544 23900, H:25.300
EAC:DE BERCRE)$ |_JL573 X
JL575 24,300
JL577 23.300
JL579 26,300
HILSE JL570 26500, H:23.400
JL572
JL574 I 24,000, H:26.000
JL576 .800 | 52% [:22.300, £:25.000. +:22.500, H:25.300
B (P ER) =ALIR (3 T | & = 2 (P ED) % |_JL3103 26.700 40% | £:34.400, :41.000
JL3105 7.900 37% ,500, #:26.700, 1:41,000
JL3107 600 | 65% :16.100
JL3115 .600 67% |+ H:15.100
JL3117 600 | 69% |+:14.100. H:15.100
FLIR G F %) % |_JL3100 600 67% |+ H:15.100
JL3106 600 | 65% |+ H:16.100
JL3110 28.800 35% | 7:29,500, £:28,500, £:26,900. H:31.000
JL3114 34400 | 22% |#:31.200. £:34.800. H:38.900
JL3118 B 29400 | 34% 9126200, +:29.800, H:33.900
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=40} B2 HEMIE
% | mpam B0 [
BAME | “7F | #six "
KIR () =08 (B8 | KR(FAD % [ JLoosi 300 | 13% .000. :29.100
JL2085 .900 63% |7K:15.000
JL2087 900 | 66% |7k:14.000
4R (ARER) & | _JL2084 ,.900 66% 17,
JL2086 33100 | 19% |JK:27.900, £:32.400. H:35.400
JL2088 35400 | 13%
RRECRE)=XiE5] R (FE)F [_JL565 31,900 4% :31.300, £:30,900. H:25.900
JL567 31,900 4%
JL569 29900 | 38%
i Bl 5 JL562 30.700 37%
JL564 30700 | 37%
JL566 29.200 | 40%
HR (FE) =R R CAE)$ |_JL551 38.200 8%
JL553 38200 | 18%
JL555 38200 | 18%
JL557 30,900 4% | A:31.500. 7K:24.700, £:29,800, +:22.400. H:26.200
FEIIES JL552 31.200 3% | A:23.300. %:25.800. + H:26.500
JL554 31100 | 33% |A:25,500, £:26.000. F:25,800, H:26.800
JL556 38200 | 18%
JL558 30700 | 34% [J¢:29.800, A:25.600. %:26,600. £:25.300. H:30.500
B CRE) =8I FR(HE) % | JL541 .900 48% :24,600. :X:26.600. 7K:26.900, K:24.400. £:27.600, +:28.100
JL543 .600 31%  |[JKAK:31.400 +:36.100, H:30.900
JL545 600 | 51% 23,900, 24.200. +:22.200, H:26.100
ElEES JL540 .700 53%
JL542 600 | 34%
JL544 23600 | 49%
R (FE) =K R CAE) F |_JL573 22900 | 50%
JL575 24400 | 46%
JL577 23400 | 48%
JL579 23400 | 48%
HILSE JL570 .800 48%
JL572 500 | 50% |7k
JL574 500 | 50% |4 24,000, H:26.000
JL576 800 | 52% |3} ] 22,500, H1:25.300
B (P ER) =ALIR (3 T | & = 2 (P ED) % |_JL3103 26.700 40% _|7K:33.500, ¥ 41.000
JL3105 7.900 37% J 33,500, #:34,400, 1:41.000, B:23,300
JL3107 600 | 65% |+ H:16.100
JL3115 600 | 67% |4 100
JL3117 600 | 69% |4 100
FLIR G F %) % |_JL3100 600 67% | .100
JL3106 600 | 65% |+ H:16.100
JL3110 28,800 35% | A:29,500, £:28.500, +:26.900, H:31,000
JL3114 34400 | 22% |/k:33.500. £:31.200. £:34.800, H:38.900
JL3118 B 29400 | 34% |K:28.500. £:26.200. 1:29.800, H:33.900
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=40} B2 HEMIE
R | mpm [0 e
BAME | T | #ix "
KRR =HIRFFR)| KRAFF % [JLsoit 800 | 35% |7k:30.800. £:29.100, £:31.500. +:36.900, H:24.000
JL2001 .300 36% K:29.600
JL2005 300 | 36% 29,600
JL3913 .300 36% | A:29.600
JL2009 500 | 62% |A:18.700. £ H:20.200
JL2019 .500 62% :22,300. + 0:20.200
FLIR (37 F %) % [_JL2000 500 20.200
JL3912 ,.500 20,200
JL2006 500 20.200
JL3914 26,700 % 26,400, A:27.600., H:29.700
JL2010 30.100 | _38% |4:39.800. H:38.700
JL2016 30.100 38% |7K:31.300. A:39.800, H:38,700
KR (BAEE) =4LIR (B Fik)| KR (B8EE) % | JL2501 0,700 37% |7K:29.300, A:27.600, H:29.100
JL2503 8.500 62% Y ,200, AK:17.700. + H:20,200
JL2505 7500 | 64% | AoK:15.200. A:17.200. T H:20.200
FLUR (B F i) % |_JL2502 7.100 65% | AJK:15.200, #
JL2504 7100 | 65% |JK:15.200. A
JL2506 0.700 37% | 7KA:32,000, H:3
R CRE) =R ERCRE) % |_JL231 5.900 56%
JL233 7.200 52% |A:16.700, £:17.500, H:16,600
JL237 7300 | 52% |A:16.400. £ H:18.300
JL239 7.300 52% |A:16.700. + H:18.300
JL241 900 | 56%
IS JL232 500 | 60% |7:15.900, & H:14.000
JL234 900 | 56%
JL236 .900 | 56%
JL240 900 | 56% |+:13.600. H:14.600
JL242 .900 | 56% 100
RRECABR)=LES FR(FE)F [ JL263 .800 52% | A:17.700. 3
JL255 400 | 50% |A:19.000.
JL257 400 | 50% | A:19.000. 1
JL259 400 | 50% &
JL261 400 | 50% [k
JL263 300 | 51% |&
JL265 400 | 50% |k
JL267 400 | 50% &
&% JL252 .100 51% |+
JL254 400 | 50% & 5500, H:15.200
JL256 20.100 | 46% |A:
JL258 20,100 46% | K 400
JL260 20.100 | 46% |k 400
JL262 400 | 50% & 000
JL264 400 | 50% |k :14.000
JL266 B 400 | 50% |4 :14.000
HECRE) =& FR(RE)F [_JL475 18 .200 35% |4
JL477 18 25200 | 29% |4
JL479 18 23200 | 35% |4
JL481 Iz 23200 | 35% |4
JL483 18 23200 | 35% |4
JL485 Iz 25200 | 29% |XJK:27.100, F:21.200, %:25,500, H:25.800
JL487 18 25200 | 29% |JJk:27.100, A:21.200. £:25.500. H:25.800
I3 JL474 18 23200 | 35% [A:21.200
JL476 18 23.200 | 35% |A:21.200
JL478 Iz 23200 | 35% [A:21.200
JL480 18 23.200 | 35% |A:21.200
JL482 Iz 23200 | 35% [A:21.200
JL484 18 25200 | 29% |JKA:26.200. H:26.300
1486 Iz 27.100 | _24% | H#:25300. +:25.200. H:26.600
HRCHE) =& R CAE) F |_JLd91 18 27600 | 27% | H%:26.600. /K:28.000. %:27.300
JL493 1H 26,600 | 29% :27.300. 7K:28.000. + H:27.600
JL495 18 32.200 | 14% |B 7.900
JL497 18 27300 | 27% |A . :27.600
JL499 18 32.200 | 14% |H£:29.000. + H:32.500
T JL490 1H 29000 | 23% |JK:27.600. %:27.300
JL492 18 29000 | 23% |K:27.100. A:27.600. E:26.500. H:26.700
JL494 1H 26600 | 29% |JKA:27.300
JL496 18 29.000 | 23% | k:32.200. K:31.900. + H:32.100
JL498 Iz 29.000 | 23% [7KA:27.300
R CRE)=#l HRCAE)# | _JL431 18 29,000 24% [ £:27.100
JL433 Iz 26,600 | 31% | JJK:26.900. A:27.400
JL435 18 29000 | 24% |A:27.400
JL437 1H 27200 | 29% |H%:26.600, £:27.400
JL439 | 21H 26,600 :27,400
JLa43 | 218 29,000 KK K:31.800
EATIE S JL430 | 218 29,000 K IKK:31,800
Ja32 | 218 26,600 X7K:26.900. :27.100
JL434 | 21H 26,600 KIKAE:27,200
JL436 | 218 29,000 K :31.800
JL438 218 29,000 p. K:31,800
JLa40 | 218 29,000 K :31.800
B B (P ED) =fLIR (3 F % 252 (haf) % JL3103 [ 21H 28,900 35% | A:30,500, #:39,000, +:41,000
JL3105 | 218 27.900 | 37% |A:27.300. & +:41,000
JL3107 218 24,200 45% X:21,700
JL3115 | 21H 14600 | 67% |+ H:15.100
JL3117 218 14,600 67% |A:15.400, £:12,200, + H:14,200
ALAR (3T F %) % | JL3100 | 218 14.600 67% [+ H:15.100
JL3106 218 21,200 52% |7K:21,700, £+ H:22,700
JL3114 | 21H 28900 | 35% |JKA:24.400
JL3116 218 28,900 35% | K:24,400
JL3118 | 21H 23900 | 46% |7K:22.900. :25400. H:28.000
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8/19-25
=R B4 - HEMIE
g | 2T i
HRCRE) =R HRCPE)H |_JL231 .000 .600
JL233 700 ,600, H:14,600
JL237 300 600, B:16.600
JL239 300 500, +:15.100, H:17.200
JL241 .900 :15.600
FELLSE JL232 ,200
JL234 .900
JL236 300 +15.600
JL240 600 3.200, H:14.100
JL242 .900 6.100. +:15.100, H:15,600
RECAB)=LES HER(EE)F [ _JL2s53 .700 5.200. + H:14.600
JL255 .200 +13.400
JL257 .200 +13.400
JL259 ,700 14,200
JL261 000 £:13.200. H:14.400
JL263 ,000 116,200, +:13.200. H:14.400
JL265 .200 :13.300
JL267 700 +13.400
&% JL252 .300 :16.600. + H:15.500
JL254 700 13,700
JL256 .400 500, %:16.600. £:16.200. H:16.100
JL258 400 15,900
JL260 400 6.600, £:16.200. H:16.900
JL262 .200 3:14.000
JL264 .700
JL266 700 :13.700
AR HRCRAE)E |_JL475 20.400 :21.400, £:22.000. H:20.200
JL4T7 25,200 29% 5.400, 1:25.000, H:22,400
JL479 22600 | 37% |£:23.000. +:23.700. H:22.000
JL481 20.200
JL483 20.200
JLA485 25,000
JL487 25.000
B JL474 21000 | 41% [H:20.400, £ +:22.400. H:20.000
JL476 22000 | 38% [:20.400, £+:22.700. H:20.500
JL478 20200 | 43% [%:19.700. +:22.400
JL480 20200 | 43% |% 0. +:22.400. H:23.400
JL482 21400 | 40% |&: 21,800, H:24,500
JL484 25000 | 30%
JL486 25000 | 30%
R (FE) =B R CRE)$ |_JLd91 23400 | 38%
JL493 23400 | 38%
JL495 21,000 | 44%
JL497 B 22700 | 0%
JL499 18 25900 | 31%
T JL490 1H 24,700 | 34%
JL492 18 23600 | 37% 3
JL494 18 20200 | 46% 1,500
JL496 18 24200 | 36% 1500, H:23.800
JL498 18 25900 | 31% .100. H:25.000
R CRE)=#l HRCAE)# | _JL431 18 21,300 44% .300
JL433 18 24,600 | 36% X 22,600
JL435 18 24200 | 37% 24,300, H:22.600
JL437 18 20400 | 47% 22.600. H:22.200
JL439 18 24,600 | 36% | 25.400
JL443 18 26,000 | 32% 22,900, H:26.900
PAES JL430 18 25.200 4% |2 +:23.800. B:22.900
JL432 18 24,000 7% %24, £:23.800. H:21.300
JL434 18 21.400 +:22.200. H:23.200
JL436 Iz 22,100 v | % 1:22.600, H:24.500
JL438 18 25400 | 34% 25,800, +:21.500, H:25.900
JL440 18 25400 | 34% 25,800, £:21.500, H:25.900
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=40} B2 HEMIE
R | mpm [0 s
BAME | T | #six "
R (AE) =W RRCAE)$ |_JL231 200 | 58% 100
JL233 700 57% 500
JL237 300 | 58% 500
JL239 300 55% ,500, £:15.100
JL241 900 | 56% 800
FELLSE JL232 200 61% 600
JL234 900 | 56% 500
JL236 300 58% 500
JL240 600 | 57% 800
JL242 .900 | 56% ,000. +:14.600
R (FE)-LS R CAE) % |_JL253 700 | 60% 600
JL255 .200 | 48% 400
JL257 200 | 48% 400
JL259 700 | 49% 200
JL261 000 | 57% 400, £:14.200
JL263 000 | 57% 200, F:14.200
JL265 200 | 51% 200
JL267 700 | 49% .200
&% JL252 .300 59% 200
JL254 700 | 49% 000
JL256 400 | 56% 600 £:15.000
JL258 400 | 56% 000
JL260 400 | 56% 600 £:15.000
JL262 .200 | 56%
JL264 700 | 49%
JL266 700 | 49%
RECRR) =& FR(FRE)F [_JL475 20,200 43%
JL4T7 25,200 29%
JL479 22600 | 37%
JL481 20200 | 43%
JL483 20200 | 43%
JL485 25000 | 30% |4
JL487 25000 | 30%
iR JLAT4 21,000 41%
JL476 22000 | 38% |4
JL478 20200 | 43%
JL480 20200 | 43%
JL482 21400 | 40%
JL484 25000 | 30%
JL486 25000 | 30% |
R (FE) =B R CRE)$ |_JLd91 23400 | 38%
JL493 23400 | 38%
JL495 21,000 | 44%
JL497 B 22700 | 0%
JL499 18 25900 | 31%
T JL490 1H 24700 | 34% [%
JL492 18 23600 | 371% |%
JL494 Iz 20200 | 6% [+:20.800
JL496 18 24200 | 36% |%:24.500. £:20.000
JL498 18 25900 | 31% |£:25.100, +:19.600
R CRE)=#l RERERCPE)H | _JL431 18 21,300 44% |£:20.900. 1:21.200
JL433 1H 24,600 | 36% |£:24.000, +:23.400
JL435 18 24200 | 37% |%:23.500. £:22.000
JL437 18 20400 | 47% |£:22.200, +:21.500
JL439 18 24,600 | 36% |+:21.500
JL443 18 26,000 | 32% |[%:26.100. £:21.300
HLLZE JL430 18 25.200 | 34%
JL432 Iz 24000 | 37%
JL434 18 21.200 | 45% |3
JL436 Iz 22,100 | 42%
JL438 18 25400 | 34%
JL440 18 25400 | 34% [£:24700, %
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= @ | ey e [ Bwh e M TE BT

waop | ERA | wRE | sEam | Ems
1RRE=FLIR BT k) EES [JL3s 32,400
L35 32,900
FLOR (37 F i) F|_JL35 29,900
35 36.700
R CRE) =& #5 R CRHE) % |_JL565 35.800
[ JL567 35,800
L569 31.900
s VIES L562 29,100
[ JL564 29.100
566 27,600
HRCRE) =R RR(CRHE) % [_JL551 38.200
[ JL553 38.200
[ JL555 38.200
L557 34,800
WBIFE | _JL552 26.300
[ JL554 26.700
[ JL556 38.200
JL558 28,600
B CRE) =8I HERCRE)# | JL 30600
JL 35,600
JL 29.500
ElEES JL 25,000
JL 31.400
JL 27.900
RECRB)=HIA R (HE) F [ L 25100
JL57 28,500
JL5T 27.500
JL579 29,300
BT JL57. 27.900
JL57: 26,800
JL57. 37.200
JL57 37.200
HR(CRE) =K HRCPHE)H |_JL585 32.600
[ JLs87 30.800
JL589 26.900
R [ JL584 27,000
[JL586 27,600
JL588 26,100
R CRE) =R HRCPE)H |_JL231 .500
[ JL233 000
JL237 500
JL239 200
JL241 500
EIES JL232 B 900
JL E 16.200
JL B 15,900
JL E 16.200
JL B 18.100
RRECAB)=LES HRCAE) & | JL25 B 7.800
JL255 B 1,500
JL257 E 1.500
JL259 B 1.200
JL261 E 20.900
JL263 B 17.800
JL265 E 19.500
JL267 B 20,900
EB% JL252 E 17.800
JL254 B 20.300
JL256 E 18.400
JL258 B 18,400
JL260 E 19.000
JL262 B 19,000
JL264 E 20.000
JL266 B 20,900
RECAB)=HE HERCAE) & [ JL277 B 26.600
JL279 B 26,600
JL283 E 26.600
JL285 B 26,600
JL287 E 26.800
HEs JL276 B 25,800
JL278 E 25.800
JL280 B 25,800
JL284 21H 25,800
JL286 | 21H 25,800
HERCHE) =& HRCPE)F | U453 | 218 22,200
JL455 | 21H 22.200
JL457 21H 22,200
JL459 | 21H 22.200
JL461 21H 22,200
JL463 | 21H 22.200
JL465 21H 22,200
BER JL452 | 21H 21,000
JL454 21H 21,000
JL456 | 21H 21,000
JL458 21H 21,000
JL460 | 21H 21,000
JL462 21H 21,000
JL464 | 21H 21,000
HECRE) =@ HRCAE)H [ JL475 | 218 23,800
JL477 | 21H 23,800
JL479 21H 24,100
JLasi | 21H 23.800
JL483 21H 23,800
JL48s | 21H 24,100
JL487 21H 24,100
BT JLa74 | 21H 23,000
JL4T76 21H 23,500
JLa7s | 21H 23.800
JL480 21H 23,800
JL482 | 21H 23,500
JL484 21 23,600
JL486 | 21 23,900
HECRB) =B HRCRE)E [ _Juol | 21 23,600
JL493 | 21 23,600
JL495 21 23,600
JL497 | 21 23,600
JL499 21 23,900
EEEES JL49%0 | 21 25,500
JL492 21 25,500
JL494 | 21 25,500
JL496 21 25,500
JLa98 | 21 25,500
R CRE) =#l HRCRE)E [ Juast | 21 24,700
JL433 | 21 25.100
JL435 21 25,100
JL437 | 21 25,000
JL439 21 21,600
JL443 | 21 25.100
ENITE 3 JL430 21 23,900
JL432 | 21 23,900
JL434 21 22,300
JL436 | 21 100
JL438 21 ,600
JL440 | 21 600
AEEUMO=1ERE | AEE (MO | JL4401 | 21 100
21 100
21 16,400
21 15.500
,200
EEEES .900
400
200
,000
600
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B947E [t
=40} B2 *# - HEIE
mamme | 2T
HRCRE) =R RERCRE) % L231 .200
[ JL2s33 700
L237 700
[ JL239 700
241 900
FELLSE |_JL232 500
L234 900
[ JL236 700
L240 900
L242 100
RR(CAB)=E8 HRCPE)F | _JL253 .500
[ JL255 .000
[JL257 000
[ JL259 20,400
[ JL261 20,000
[ JL263 17.200
[ JL265 19.300
JL267 20,400
L% | _JL252 15,900
JL254 20,400
[JL256 300
[ JL258 300
[JL260 200
[ JL262 400
[ JL264 600
JL266 20,400
RECRR) =& FRCAE) & [ JL475 21.300
JL477 26,200
JL479 25.700
JL481 26,200
JL483 25.700
[ JLass 27.100
JL487 27.100
iR JL4T4 25,700
JL4T6 26.600
JL478 25,700
[JL480 25.700
[JL4s2 25,700
JL484 26.200
JL486 27.100
ERCRE) =54 HERCRE)$ |_JL491 31.800
[JL493 29,700
JL495 32.200
JL497 E 29,000
JL499 E 200
T JL490 B 200
JL492 E 500
JL494 B 200
JL496 E 200
JL498 B 200

MEEZE21 1 EEXRBATBEBESD)
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ELTE 8/9 8/10 8/11 8/12 8/13 8/14 8/15 8/16
=40} B2 FHEIMTE | BT E| BEMTE| BEIMTE| BEMTE| BEMIE| BEMIE| BEMIE
BA E;BE EEE e B e B e R e
FRCRE) =R FHFm)| ERCEE)FE |_JL501 27.700 24,500 7.700 27.700
[JL503 29,700 24,500 7,700 29,700
[JL505 7.000 25.700 7.700
[ JL507 7.000 25,700 7,700
[JL509 7.600 [_27.000 7.700
L! 7.600 | 27.000 7,700
L 7.000 7.700 7.700
L! 29,300 7.700 7,700
L 29300 7.700 7.700
9 7,700 7.700 7,700
[ JLs21 7.700 7.700 7.700
[ JL523 7,700 7.700 7,700
[ JLs525 6.200 7.700 7.700
L527 6,200 | 22,600 7,700
[ JL520 36.200 22,600 7.700
[ JL531 36.200 21.400
JL599 31.700 20.700
FLIR (B F i) % |_JL500 25.100
[JLs502 26.400
[ JL504 25,100
[ JL506 23.900
[ JLs08 23,700
JL 23.200
JL 25,100
JL 25.800
JL 25,800
JL518 26.400
[ JL520 26,400
[ JLs22 26.400
[ JL524 26,400
[ JL526 25,700
[ Jis28 500
JL530 500
JL598 500
HR(CRE)=kE3 RRCAE)H |_JL565 1200
[ JL567 7.200
JL569 4.700
ZwmAFE  |_JL562 5,000
[ JL564 34,000
JL566 33,500
R CRE) =R HERCRE) % |_JL551 .200
[ JL553 200
JL555 200
JL557 B 200
FENIES JL552 B 400
JL554 B 400
JL556 E 8.200
JL558 B 5,000
ERCRE) =8I HERCRE) | _JLs41 B 7.200
JL543 B 7,700
JL5 B 4.200
EEES JL5. B 1,000
JLS. B 5.500
JL5 B 2,500
ERCRR) =%k HRCPE)$ |_JLST. B 7.200
JL57 B 7,200
JL577 B 7.200
JL579 B 700
BLE JL57 E 200
JL57. B 200
JL57 E 200
JL57 B 700
HR(CRE)=HE HR(CPHE) % |_JL585 B .200
JL587 B 200
JL589 B 0.200
WER JL584 B 27,900
JL586 E 30.800
JL588 B 28,900
2HE (MR =18k AHE(MR) F|_JL4401 B 24.100
L4403 B 24,100
["JL4405 24.100
JL4413 26.100
JL4415 2 26,200
TR JL4400 | 218 13.500
JL4402 21H 13,400
JLa410 | 21H 13.900
JLa412 21H 19,400
JLa4ia | 21H 19.400

JAL



MEEEIS121 EEXR(BA1T~18BERERD) JAL

EW#EMAE ;. 2019/05/23 ~

o 8/17 8/18
= g e e e | e
a o | ERE | EAE
B CRE) =8I RRECRE)# Lt 32,300 29.700
L! 35,300 32,700
L 28.200 | 29200
ElEE L 33,700 33,700
L 7700 | 32.700
L! 7,200 33.700
ZHEE(MRD-RE | B E (VB [ L 700 | 13,800
700 100
900 00
.900 | 1
700 400
[EEES ,400 .700
L4 600 6.700
L 20,600 8700
JLa412 22.600 | 22800
L4414 18.700 22,800




[%BE5 SEER (6A20~21 BIEES)

EFEAA 2019/05/23 ~
6/20-21
= .73 EWION
§ P
| MAME | *
RRECHE)=Z#5 RER(ER) | _J 28E B
28H
28H
ESSTIES 288
28H 00, £:15.300, H:18,000
28H 18,000
HF(HE) =R RR(HE) % 28H
28H
28H 900, E 800, :16.600, £:15.200, B:19.100
28H 900 400, E: 300, £:16.100, +:14.700, H:19.500
FEIIES 28H 100 :14,900, 15,700, +:16.200, H:15.600
28H 500 00, 16,100
28H 400 4,000, E X 15,000, 1:13.200, H:16.000
28H 700 3,300, E: 900, £:13,200, 1:12.500, H:14.400
BEE (FED AR G T AR A B (P55 ] 100 25,300, B:19,.800
28H 800
28H 000
28H 000
28H 000 11,500, £:10,800, +:11,300, H:12,300
LR G a) H_J 288 800 1900, 12300
28H 800 ,300
28H 200 ! 400, £:18.800, 1:17.600
28H 100 100, £:20,800, 1:19.600
28H 900 00, H:25,700

JAL
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[%1BE5 SEER (6A22~3081E%S)

6/22-30
=] [: 73 _ FILTA
B | e | B e
| BAMR | T | @iBiE
RERCAE)=%@3 | "= (FHE) %|_J :18,900, H:17.700
[%:15.400, £:17.900, H:18,700
£:14,700, £:16.100, H:18,600
B 213,000, £:15,800, H:19:
£:10.000, +:11,100, B:18.500
RRCABEN | RRCAB) & 14,400, 2:15,700, :18,900, H:15500
:18,600
116,200, 1:16,600, B:18.200
15,700, 3:16,100, B:20,200
[ 7,900, B:16,800
113,100, +:15.100, B:17.000
:18,900
116,200
ECICEE T RERERCAE) % 6,300
222,700
ElES
B (HE) =%k RERECRE) %
L57 288
L57 288
L57 288
I L57 288
L57 288 600 | 66% 5,100 700, +:17,100, B:18,700
L57 288 600 | 66% 5,100, £:16,000, F:17.100, H:18,700
[ JL57 288 800 | 68% X ¥ 17,
FR CHE)=EfE HRCRE) [ _JL585 [ 288 800 61% 3,300, A:16,100, £:19,000, £:22,500, H:13.400
[ Jis587 | 288 700 | 61% 15,200, +:17.400
[ Ji589 | 28 100 | 54% | £:17.900, +:18,100, B:20800
EfE% | _Ji584 | 28H 000 | 63%
[ JL586 | 28 600 | 61%
[ Ji588 | 28 200 | 48%
B (FE)=X5 RECRE) | _JL661 288 000 62%
[ JL663 | 28 000 | 62%
[ JL665 | 28 000 | 65%
[ JLe67 | 288 000 | 65%
[ JL669 | 28 000 | 65%
L671 | 288 000 | 62%
K55 L662 | 28| 000 | 62%
L664 | 288 000 | 65%
288 000 | 65%
288 000 | 62%
288 500 | 59%
| J 288 000 | 65%
R (FH)=Ri& RERCAE) | _J 288 500 69%
288 900 | 68%
288 300 | 69%
288 300 | 69%
288 300 | 69%
288 500 | 69%
e 288 500 | 69%
288 300 | 69%
L 288 300 | 69%
L 288 500 | 69% 00, F:14,700, H:18,500
L 288 000 | 66% 3 6,200, H:19,500
| J 288 ,300 | 69% | @ H:15400
RR (RE)= R CRAME) 5| _JL623 | 288 000 | 71%
[ JL625 | 28H 900 | 66%
[ Jl627 | 28H 900 | 64% 00, F:16,400, H:15,900
[ JL629 | 28H 900 | 64% 700, +:16.400, B:15900
[ JL63t | 288 900 | 66% 700, +:15,400, H:14.900
[ JL633 | 28H 900 | 66% 00
[ JL637 | 280 800 | 62%
1639 | 288 000 | 61%
FeASE | _JL622 | 288 900 | 66%
[ Jl624 | 28H 900 | 64%
[ JL626 | 28 900 | 66%
[ JL628 | 28H 900 | 66%
[ JL630 | 28H 900 | 64%
[ JL632 | 280 900 | 66%
[ JL63a | 28H 900 | 64%
[ JL638 | 28H 200 | 63%
R (FH)=2& RECRE) S| _JL687 | 288 ,000 66%
[ JL6sy | 28H 000 | 66%
L691 | 28A 000 | 66%
[ JL693 | 28H 000 | 66%
288 000 | 66%
288 000 | 66% 100, H:17.500
S 288 ,200 65% ,300, A:15,700, +:17.300, H:15,500
288 000 | 66%
288 000 | 66% 100, H:16.000
288 000 | 66% ,300, H:15.200
288 000 | 66% 700
| J 286 000 | 66%
RER(CAE)=-ERSE |ER(FE)H 288 .000 77% | £:10.800
288 700 | 75% | +:11,500
288 000 | 75% | +:12,000
288 700 |75
286 000
288 000 AL H:10300
288 000 £:10,500, H:10,800
288 000 [ £:10,500, H:10,800
BRSR 288 600 78% | 1:10.300
286 500 | 76%
288 800 78%
286 100 | 77% |A+H:10300
288 900 | 75% [JKA%:10,700, B:11.500
288 900 | 75% £:10700, H:12500
286 000 | 75% +13,000
288 300 | 76% +12,000
B E (P D) =ALIR (9 T R 2 (PED H_J 288 100 50% ,800, H:25,000
288 800 62% N ,000, +:20.400, H:21.800
288 000 | 69% 2,800, + H:13,300
288 000 71% 1,800, £ H:12.300
288 000 | 74% [#:10,
HLOR (37 F %) K 288 800 72%
L: 288 800 | 69% |3
L 288 .200 52% 3,700, A:20.400, #:18,800, F:19,600
L 288 2100 50% 5,100, #:20,800, £:20,600
L: 288 900 | 64% 5500, H:31,200




48 o) N-aEE
TEBEI5 EER(TA1~11BEESD)
SEFEAE  2019/05/23 ~
77111
p— . FHITA FRITE
FO | mgam B0 k23] s
BMAMR| T | @isiE AR | >
R () =R FF8)| RRCHE) % B 000 67% 45E R | 800, 115,700, H:11,300
000 | 67% 7.100, B:11,400 45881 | 300, £:15,900, H:11,300
700 | 63% 300, B:13,100 458 100, £:19,200, H:13,000
700 | 63% 458 100, £:19,200, H:13,000
400 | 59% 45881 | 700, £:19,800, H:13,600
400 | 59% 45881 | 700, £:19,800, H:13,600
E] 000, £:17,500, H:14,200 |

RRCRB) =948 GBE)

HLOR (37 F %) S{__uL!

3,

&

5, 13,

500. 1

100, 1:12,800, H:16,500
100, 1:12,300, H:15,200

NS
=

100, 1:14,700, H:14,500 |
800, F:14.200, H:14.700 |
800, F:14.200, H:14.700 |
100, 1:13,900, H:15,300 |
100, 1:13,900, H:15.300 |
1:13,600, H:16.300

19,100, 312,300, B-15200 |
00

D

200, F:14,800, H:12,500 |

1£:15.400, H:13,100

100

R (PE) | _J

0

00, H:15.300

100, 1:12,500, H:14,200 |

900

L

500, H:15,300 |
200, F:12,500, H:16.400 |
300, 1:13,000, H:18,700 |
300, 1:13,000, H:19,200 |
900, 1:13,000, H:19,200 |
900, 1:13,000, H:19,200 |
900, 1:13,000, H:19,200 |
900, 1:13,000, H:19,200 |
300, 1:12,800. H:17.000 |
200, F:11,700, H:15.900 |
700, 1:11,200, H:15.900 |

19,000, H:17,200

19,000, H:17,200

|

NN

2,30(
60!

300, 1:26,500, H:20,100 |

300, 1:26,500, H:20,100 |
0, 1:26.500, H:20.100 |
0

00

400 | 66% 17,800 16,400
400 | 66% [#:27.700. £ B:17.800 25,700, + B:16.400
600 | 78% 900 400
900 81% 400
900 81% 400
900 79%
900 | 77%
400 | 66%
000 | 56%
000 | 56%
000 | 56%
300 | 5%
300 | 5%
600 | 55%
[ J 600 | 57%
HECRE)= RERCABE) | _J 100 59%
100 | 59%
300 | 64%
ESLES ,300 62%
,300 | 62%
[ J .600 | 66%
FR (FE) =9I HRECAE) & 400 62%
500 | 49%
.900 | 63k
I3 200 | 63% 7,700, £:19,700
000 | 52% |&+:24000. B:22.700
200 | 65% +17,200, B:18,
R (HE) =%k HRECAE) & .900 65%
7 100 | 62%
7 100 | 62%
7 600 | 61%
IR 7 700 | 61%
7 800 | 63%
7 800 | 63%
[ JL57 700 | 65%
HR(CHE)-EfE EREBE | J ,800 63% N
900 | 58% [K:15,000, %:16,400, +£:18,000, H:16,600
400 51% [$:20.200, +:18,600, H:20,800
R ,000 57% EE
500 | 61% 000, £:18,000, +:15,800, B:21.100
| J 500 45% 00, H:25,000 00, +:17,600, H:2:
ARAE) =A% | BR(AE X 500 | 61% 00 000, H:13,000
000 | 60% 00, %:18,000, 17,500, H:16,400 H:14,500
500 63% ES
300 | 62% H:14,400
800 | 60%
300 | 62%
E 3 800 | 63%
,800 | 63%
500 | 63%
500 | 6%
500 | 590%
[ J 300 64% 00, &:1 N 00
R (HA) =55 ER(EAR)E[_J 800 68% 300, A:12,500, £:14,600, £:15.100.
500 60% 200, A:1 00.
100 67% 900, % H:14.400, +:14,800
100 67% 900, % H:14.400, +:14,800
,600 | 66%
,800 | 66%
RIB5E 800 | 66%
,600 | 66%
,600 | 66%
,300 | 65% 17,500
,800 | 64% X 5
100 67% 11,900, $:16,000, F:13,000, H:15,300
ERCHE o (AE) %[ _J 200 | 65% 700,  H:13,200
500 | 62%
500 | 62%
300 | 60%
7000 | 61% X 00, H 00
500 64% 5,800, A:16,300, #:17.300, +:16,600, H:17,000 00, 7K:13,700, 7:14.400, $:15,200, £:14,200, B:1
,900 61% 7.300, 116,800, +:16,300, H:18,700 00, #:15,600, F:14.200, H:16,400
,300 63% 7,300, X:15,800, A:16.800, £:17.800. H:18.700 00, &:1 00
RS 300 63% 00, +:17,500 800, 7:15.0(
800 50% +:18,500, H:16.800 700, 7K H:15,200, % +:15.300
800 | 61% 17,300, H:16,300 14,400, £:15,100
800 61% 00, & +:16.400 13,700, 7K:13,300. :14.200, +:14,100
,800 61% :16,300, £:17,400, £:17.300, H:17,800 800, 7K:14.300, A:14,900, #:15.400, 1:15.100, H:15,900
000 | 59% 000, +:16,800. H:18,500 N 00
000 | 61% 00, 16,500, £::19,000. +:16,800, H:19,500
[ J 7300 | 60% 16,800, %:18.000, H:17,700
R (PH)-28 | AR PE R J 500 | 64% 6500, +:16.300
,800 64% 0, +:15,000, H:13,600
,300 63% 800. b X 300, :13,900, 7K:13,300, #:14,600, +:14,500
,000 000, +:16,300 L E:14 00
800 00, £:16,800, +:16.300, H:17.500 0, &1 N 00, H:1
,300 15,500, +:14,400, H:16,000
B 800 00
500
500
800 X . N 00
800 4% [B: 00, 7k:15,500, % H:16,800 13,600, £:14,800, +:13,900, H:15,100
,300 3% [k £:15,300, H:16,500 3,300, A& +:12.500, £ H:13,800




B2 BER(TAI~1BERED)

EEEAEE : 2019/05/23 ~

7/1-11
={0] B | —H FB/ITA FAB
s | TR | maiw | il il
HRCAE)-ERE | 3m CRE) [ JU HaL 7600 75% 100, 15,300 3000, 15200
L ,100 2% :14,100, 1:16,300 £:14,000, 1:16.200
L ,100 69% :15,100, 1:16,300 15,000, 1:16.200
L ,000 72% :14,100, £:15,100 3,900, :14.600, H:14.000
L¢ ,100 72% K:13,000 AK:12.500
[ JL 100 100 3,000
| _JL653 100 100, B:15,300 3,000, H:15.200
L655 ,100 100, B:15,300 3,000, H:15.200
BERBR L 200 200 11,400, £:13,100
L¢ ,100 72%
L 100 | 74% _ 75
L¢ ,100 72% 100 72% | H:14,000
[ JL ,100 2% 500, H:18,100 72% | H:13.400, H:16.000
|_JL650 ,100 2% 500, H:19,500 72% | H:13.400, H:17.300
| _JL652 1,100 69% 000, £:18,500, H:18,400 70% | 212,500, 7K:13.100, %:16.600, +:13.700, H:16.700
54 100 2% 000, £:16,100, H:15,400 2% 500, £:16,000, H:15.300
(B B2 (e &) ~ALIR (3 T ARpe & 2 (P &) 3_JL3103 700 | 42% | 8,800, H:25,000 |_46% [£+:27700, B:22,600
|_JL3105 ,900 62% 17,100, :17,000, £:20,900, H:21,000 63% 6,600, :16.500, 1:20,000, H:19,200
L3107 300 70% 214,800 73% | H:11,900. £:12,300, + H:12.900
L3115 300 2% 213,800 76% 000, £:11,300, + H:11,900
L3117 500 76% 212,000, H:13,800 80% 500, £:10,100, H:11,900
WLOR (37 F %) 5{_JL3100 100 73% +12.600 76% | H:11,000, £:11.300, £ H:11.900
[ JL3106 100 |70% ER: 73% | 411,900, £:12.300, + H:12,900
L3110 ,300 47% 123,500, %:22,200, H:25.200 51% 400, 22,200, #:20.100, +:21.100, H:23.200
L3114 1,300 45% 124,500, 25,900, H:30,000 48% | B:23400, X:23200., £:23.900, 1:22.400, H:29.000
L3118 400 63% | 1:17,900, H:31,200 64% | :16.500, H:30.100

~



T%BE5 EER(TA16~2481EFS)
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7/16-24
= B | = FMTA A7
e | TR | maix ) kil
HECHE) =4I 3 F8)| RRCHE) % B8] 100 | 65% 18,100, 19,800, H:14.200 17,500, £:19,100, H:13.700
100 | 65% 17,500, £:19,100, H:13.700
800 | 60% 20,200, F:21,300, H:15.300
800 | 60% 20,200, F:21,300, H:15.300
500 | 56% 20,800, F:21,800, H:15.900
500 | 56% 20,800, 121,800, H:15.900 |
800 | 60% 19,100, £:19,700, H:16.400 |
300 | 62% 18,000, :16,900, H:16.700 |
800 | 60% 18,600, :16,400, H:16.900 |
800 | 60% 18,600, :16,400, H:16.900 |
000 | 60% 17,800, :16,200, H:17.500 |
000 | 60% 17,800, £:16,200, H:17.500 |
000 | 57% 19,300, H:18,600
100 | 55% 20,600, F:15,500, H:19.100 |
600 | 56% 20,600, F:15,000, H:18,600 |
,300 | 5% :21,000, +:14,600, H:17.300 |
500 | 46k 800
HLOR (37 F %) S{__uL! .900 60%
000 | 57%
,900 | 60%
800 | 63%
200 | 64%
L 700 | 63%
L 300 | 62%
L 800 | 60%
L 200 | 59%
400 | 5%
400 | 5%
400 | 5%
400 | 5%
,300 | 62% 500, £:15.100, H:19.100 |
700 | 63% 400, F:14,000, H:18,000 |
200 | 64% 900, +:13,500, H:18,000 |
[J 500 | 50% 000
RECRE)=HE (BH) | RERCAB) F|_J 1,500 55% 20,000, H:18,100
300 | _49% 400, 1:26,700, H:21.100 |
300 | _49% 400, F:26,700, H:21.100 |
300 | _49% $:23,400, +:26.700, H:21,100 |
300 | 52% 5:22,700
L 700 | 53% £:29,900. H:21,500
L 800 | 59% |+ H:21,200
L 300 | 60% 20,700
L 900 79% | A $:10,700
L 900 8% 600, £:9.700
19100 | 60% |£:19,300, £ H:20600
[J 19100 | 60% |£:19,300, £ H:20600
R ORE) R 10,600 78%
900 1%
9,900 79%
900 | 77%
100 | 60%
L 900 | 5a% 1,600, £:21,500, H:28.700
L 900 | 5a% 500, H:28,700
L 900 | 5a% 500
L 300 | _49% 1500, H:30500
L 4300 | 49% 1500, H:29.200
700 | 53% 00, H:25,300
[ J 500 | 55%
RRECAB)=%#3 | H=(FHE) %|_J ,300 52% A0
,300 | 52% 21,400, :22,400, 1:24.600, H:21.000
100 56% 18,100, & +:1
ESTES .000 53%
,000 | 534 00, 7K:18,600, £:19,600, £:20,000,
[ J 900 | 50% 1600, +:17.100. B:20400
R CAE) =8Il R CAE) 5| J 500 | 37% 1200, B:27,800
100 | 35%
100 | 8% :24.000. +:23.700, H:25.200
500 | 52% E:19,700
FEIES 900 | 51% 0,600, F:21,600, H:21,100
200 | 50%
000 | 38%
[ J 20300 | 56%
FR (FE) =9I HECRE) $|_JL 600 57%
L 500 | 38%
L 100 | 50%
I3 L 600 | 57%
L 000 | 39%
L 500 | 58% 8,800, H:19.700
B (CHE) =%k HRE(RE) L 400 57% 17,700, +:19.400, H:17,800
L57 000 | 56%
L57 000 | 56%
L57 500 | 55%
ETR L57 500 | 55%
L57 000 | 56%
L57: 000 56% A00, 1
| JL57 900 58% 16,500, :17,500, H:18,300
Hn (UA)=HiE ER(EAR)E[_J 400 54% . B:16,600 2,100, +:24,700, H:15,500
200 | 52% 1,800, +:21,700, B:19.700
300 | 4%
WAESE 600 | 51%
,300 | 51%
[ J 500 | 35%
HR(HEHE) =K RER(PE) R 500 5%
7500 | 5%
7300 | 50%
7300 | 5%
7800 | 58%
7800 | 58%
K5 6800 | 60%
6800 | 60%
7000 | 60%
500 | 61%
000 | 55%
[ J 300 | 62%
HR(HE) =R EREBE | J 400 62%
500 | 58%
000 | 59% 00
000 61% 000, +:16,800, H:16.100
100 | 63% 00
100 | 63%
RI&5E 300 | 62%
,800 | 64%
,800 | 64% 00
000 | 59% 7.700, 17,100, B:19,100
000 | 57% 00
500 | 64% 000
o (AE) %[ _J .200 | 63% £ 13,500, H:13,000
500 | 60% N i 900
7500 | 60% 00, 7:19,000, & +:19.600, H:17400
8,800 57% 800, 7K:17.500, :18,000, H:18,400
8000 | 50% 400
7300 | 60% 00, k16,500, & 17,400, £:18.400
7.800 59% 300, 7KA:17,700, £:17,300, H:19,600 6,200, 15,700, %:16,400, +:15.200, H:17,200
7.300 60% 0 17,100, A:17,800, #:19,200, H:19.600 6,200,  H:17.200, 1:15.200
33 7500 | 60% 00, K H:1 18,000, £:19.300 116,000, £:17,200
8,800 57% 500, +:19.800, H:18,300 H:15.700, /KA H:16.200
7.800 59% N .300 A X 100, +:15.700
7.800 59% 00, :16,800, #:17,300, +:17.200 4,100, A:14,700, #:15,200, + 0
,800 57% 7,800, £:18,300, +:18,200 2k:16.700, 7K:15.300, A:15,900, :16,400, 1:16.000, H:16,900
000 56% 7 500 K :16.400, #:17.500, +:16,200, H:18,500
,000 59% J 20,000, H:20,500 6,700, 17,700, £:1
[ J 800 | 59% [H4A 19,000, B:18,600 XK E:15.700, %:16.700_
HR (PR =25 ERCAE) % _J 6,500 62% 00, £:17,500, +:17,300 5,100, #:15.400, :1
6,500 62% 17,300, +:17.800 7K B:14.900, A:15.400, $:15,500, +£:16,000
7.300 60% K A:15,200., 7K:14.500, & +:15,600
7000 | 61%
6,800 61% 00, 00, +:17.300, H:18,500
7,300 60% 17,000, 7K:16,500. X
BB 7500 | 60% Al 500, H:16,700
6.800 61% +16,600, K : N N 0
7.000 61% 7,800, 7KA:16,500, £:17.300. H:17.400
6900 | 61% 00, 18,000, £:17,500, +:17,200. H:18,200
7800 | 5% 00, H:18,200
6300 | 63% £ H:13.600
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I%BE5 BER(TA16~24AEED)

7/16-24
- o — - ERA FRITE
masmm| EIE | o | %% %
RECHE)=ER RERERCAE) % L =K 700 62% 500, 7:12,800, :14,500, 1:18,700, 800 15,000, A:10.700, #:13,000, +:16.700, H:14.700
L¢ .800 61% 000, 7:15,100, :16.500, 1:20,500, H:16,800 | A:16.800, 7:13,600, £:15.000, 1:17,900, H:14,700
L¢ 400 60% 000, A :16,100, 1:20,000, H:16,800 £:14,600, +:17.500, H:14,700
L¢ ,000 67% 800, 15,500, H:18,000 14,700, A:13,600, #:14,000, H:16.100
L¢ 800 64% 300, 7K:15,000, #:14,100, £:14,500, H:18,000 7K:14,500, 7:12,600, £:13,000, H:16,100
[ JL 700 64% 17,800, A:12,100, £:13,000, +:17,300, H:18,900 15,700, A#:10,600, +:15.200, H:16,400
| _JL653 ,300 65% 18,100, A:13,100, £:15,500, H:20,000 15,200, A:11,600, :14,000, H:17.200
L655 ,300 65% 17,900, #:13,100, #:15,500, H:19,600 15,200, A:11,600, :14,000, H:17.200
ERER L 100 63% 14,600, 7k:13,600, AR #:13,100, £:17,900 15,400, X:13,100, 7K:12,100, +:16.400, H:15.200
L¢ 800 61% 17,000, :17.300, 7K:16,300, 7:13,100, :14,500 15 k:15,200,, 7K:14,500, 7%:11,600, £:13,000, 1:16,300, H:15,800
L¢ 000 65% 16,900, 7k:15,600, 7:12,100, 13,500, +:16,800, B:17,300 14 k:15,200,, 7k:14,100, 7%:10,600, £:12,000, +:15,300, H:15,800
L¢ ,100 72% 000, 16,900, 7k:16.400, +:16,800, 900 14,500, :X:15.400, 7K:14,700, +:15,300, H:16.400
,000 61% 900, 7K:16,600, A:14,100, £:15,500, 400, H:19,000 15,900, 7K:15,100, 7%:12,600, :14,000, +:15,300, H:16,800
,000 61% 300, 7K:16,600, A:14,100, £:15,500, 100, H:20,800 16,500, 2:16.900, 7:12,600, :14,000, H:18,200
100 69% 300, 14,400, £:19.100, +:17,000, H:19,500 15,200, K:12,900, #:17,400, +:15.000, H:17.500
100 69% 17,300, k:14,400, £:16,100, +:17,000, H:19,500 15,200, X:12,900, £:14,600, +:15.000, H:17,500
S T PN 100 | 52% |+:26,000 23,500
Sk ,800 54% | 423,700, F:25.100, H:25,300 19,000, H:20,900
B 7 B (h&B) =#L 0% (7 F HE(PE) H .600 40% = 1:29,800, H:26.400 i 1:28,800, H:24,000
,200 59% 23,10( K 21,100, H:19.400
300 68% 5,000, 1+ H:15,500 12,600, + H:14,300
300 70% 2:14,000, + H:14,500 +11,600, + H:13,.300
.500 74% 1+ H:13,000 9,
LI (37 F %) ${_JL3100 100 70% 1+ H:13.600
L3106 100 |_68% & B.:14600
L3110 .900 51% 22,400, 1:19,400, H:24,200 20,700, 1:18.400, H:23,200
114 ,900 46% 24,400, 1:21,400, H:30,000 22,700, 1:20.400, B 0
118 .700 62% | +:20.300, H:31,200 18,900, H:28,400
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HECHE) =4I 3 F8)| RRCHE) % BRI 100 | 65% |2:18,100, £:19,800, H:14,200 4588 100 | 67% 7500, £ 00
100 | 65% [2ksk:15100, :18,100, +:19,800, H:14.200 458 67% 4,400, £:17,500, £:19,100, H:13.700
800 | 60% [£:21000. £:22,100, H:15,900 458 63% 4,900, £:20,200, +:21,300, H:15,300
800 | 60% | X7K:17,100, £:21,000, £:22,100, H:15,900 458 63% 2 1300, H:15,300
500 | 56% |£:21500, +:22,700, H:16,500 458 59% 0, :21,80¢ 900
500 | 56% |£:21500, £:22,700, H:16,500 458 59% 0,800, +:21,800, H:15,900
800 | 60% 19,800, :20,400, H:17.000 458 63% |7K:14,900, £:19,100, £:19,700, H:16.400
300 | 62% 18,700, 17,600, H:17.400 458 64% |2 g )
800 | 60% |£:18,900, £:17,000, H:17.600 458 63% | 218,600, £:16,400, H:16,900
800 | 60% |£:18,900, £:17,000, H:17.600 458 63% | 218,600, £:16,400, H:16,900
000 | 60% 17,900, 16,800, H:18.100 458 62% | 217,800, £:16,200, H:17.500
000 | 60% 17,900, 16,800, H:18.100 458 62% | & :16,200, H:17.500
000 | 57% 220900, £:16,500, H:19,300 458 60% |3 8,600
100 | 55% |£:22200, £:16,100, H:19,800 458 58% | 220,600, £:15,500, H:19,100
600 | 56% 22,200, F:15,600, H:19.300 458 59% | 220,600, £:15,000, H:18,600
,300 | 59% |£:22,100, F:15,200, H:18,000 458 62% | 221,000, £:14,600, H:17.300
500 | 46% | +:14,100, H:17.400 458 48% | £:13)500, H:16,800
FLIR (37 F ) 3_JL: ,900 | 60% |2:17,100, £:17,600, H:15400 458 63% | 215400, £:16,000, H:13,800
000 | 57% |%+:18,200, H:16,000 458 60% | £ 1:16500, H:14,400
,900 | 60% | +:17,100, H:16,000 458 63% |2 1:15400, H:14,400
800 | 63% |2:16,000, +:15,400, H:17.000 458 66% | 214,400, +:13,800, H:15,400
200 | 64% |%:15,400, +:14,800, H:18,100 458 67% |2:13 500
L 700 | 63% |%:15,900, F:15,300, H:18,100 458 66%
L ,300 | 62% |%:17,000, H:19.300 458 645%
L ,800 | 60% |:18,100, £:15,900, H:21.500 458 63%
L 200 | 59% |2:18,100, F:15,900, H:22.100 458 62%
400 | 50% |2:18,700, +:15,900, H:22.100 458 62%
400 | 50% |2:18,700, +:15,900, H:22.100 458 62%
400 | 5% |2:18,700, £:15,900, H:22.100 458 62%
400 | 50% |2:18,700, +:15,900, H:22.100 458 62%
,300 | 62% |%:18,100, F:15,700, H:19.800 458 64%
700 | 63% |%:17,000, £:14,500, H:18,700 458 66%
200 | 64% |%:16,500, £:14,000, H:18,700 458 67%
| J ,500 | 59% | +:14,000, H:18,700 458 63% | +£:12500, H:17.000
HRCHE) =P8 G0H) | R CAE) %[ J 1500 | 55% [7K:22,300, %:21,900, £:22,200, B:20,500 455 [_60% |/K:19.600, £+:20000 H8100 |
300 | _49% £ 458 54% _|7K:22.900, £:23,400, 1:28,700, H:21.100
300 | _49% X 458 54% _|7K:22,900, £:23,400 700, H:21,100
300 | 49% 25,200, %:25,400, £:29,700, H:23,300 458 54% _|7K:22.900, £:23.400, F:28,700, H:21,100
300 | 52% 24,100, £:24,600, £:29,900, H:22.700 458 59% ,900
L 700 | 53% 458 65% 8,900
L 800 | 59% |/K:21600, &+ H:21.200 458 74%
L 300 | 60% |7k:21.100, £ B:20,700 458 75%
L 900 79% | #H:10,700 458 80%
L 900 81% |2:9.700, H:10,600 458 82%
19100 | 60% |7K:21,100, £:19,300. + H:20,600 458 700, & H:19,300
19100 | 60% |7K:21,100, £:19,300. F H:20,600 458 700, & H:19,300
10600 | 78% 458
900 1% 458
9,900 79% 458
900 | 77% 458
100 | 60% 458
L 900 | 5a% 1,500, H:28,700 458
L 900 | 5a% 458
L 900 | 5a% 458
L 300 | _49% 458
L 4300 | 49% 458
L92 2700 | 53% 458
L922 1500 | 55% 458
FH=FLIR (37 F )| KB (FFH | _JL3911 4,000 51% 458
[ JL2001 4000 | 51% 458 R
[ JL2005 4000 | 51% 458 ,000, £:25.700, H:19.
[ JL3913 1700 | 56% 1,800, +:24,300, B:19.700 458 65% | XJK:22.200, £:20,200, £
[ JL2009 800 | 68% 458 69% |} 00
L2019 800 | 70% 5800 +:16,400, H:17,400 458 1% |7
LI (37 F %) 3_JL2000 800 | 74% |7K:15,100, +:16,400. H:15,900 458 75% |k
U912 300 | 69% |7K:17.400. F H:16.900 458 70% |}
[ JL2006 800 7.900, £ H:17.400 458 69% |}
L3914 800 EE 458 71% |2
L2010 400 458 @,
[ JL2016 400 458 @,
KI5 (BAZE) =4LAR (3 F 4% )| A (BIeE) 5 [ JL2501 300 :23,500, £:23,700. +:26,100, H:21,100 458 K
[ JL2503 800 | 72% |7K:15900. + H:15.400 458 400, £ H:14
L2505 800 | 74% | 7K:14900, T B:14400 458 4,400, £ H:13,800
LI (3 F &%) 3{_JL2502 800 | 74% |7K:15,100, H:15,900 458 5,000, H:15,400
[ JL2504 800 |7 0%, 458 13,000, 7K:15,000, B
[ JL2506 200 | 52% |4 458 k7K:23,900, 21400, B
R CAE)=RK@A | Jm CHE) 3 |_JL565 300 | 50% 458 :23,800, 7K:23,100, A:21,400, 24
[ JL567 ,300 50% 458 k:23,800, 7K:23,100, 7:21.400, £:24.
569 200 54% 458 k:22,300, 7K:20,600, &+
KEAE | _JLs62 900 | 5% | 450 =
[ JL564 900 | 53% 458
[ JL566 500 | 62% 458
R CHA) =R HE(FE) F [ JLS51 500 37% 458
100 | 35% 458
100 48% 458 N 00, #:24,000, £:23700,
25100 | 46% | FH:24,100, A:22,500, £:24,700, +:20500, H:24,500 458 :19,500, X:23,000, 7K:22,500, %:21,100,
FEIIES 24400 | 8% 4,100, :22,900, £:23,700, F H:24200 458
23500 | 50% 200, £:23,200, *:23,600, B:24,600 458
29,000 | 38% £:34,100, H:32,100 458 . $:33,100, H:31300
[ J 20100 | 57% 4,000, 7K:24,800, :20,300, %:21,200. H:24,100 458 1,400, 7K:21.200, 717,300, £:19.100, H:21,800
ERADE | mRFEF[ L 800 | 57% [7K:23,600, A:19,600. £:20,300, +:21,300, H:20,100 458 1,100, 7:18,100, +:20,800, H:18,600
L 500 38% 31,400, % +:30,700 458 +
L 300 | 58% 458 00, £:18,900. H:20,800
I3 L 600 | 57% |7K:20,100, $:21,400, +:22,800, B:20900 458 21,300
L 000 39% 29,700, % + H:28,500 458
L 500 | 58% 458 800,
R (FHE) =%k RER(CPAE) F|_JL 400 57% 458 700,
000 56% 458 100, £:20,000,
000 | 56% 458
500 | 55% 458
ETR 500 | 55% 458
000 | 56% 458
000 | 56% 458
J 900 | 58 9,400, H:20,500 455
Hn (FA)=HiE ERCAE) %[ _J 7,600 53% 1,600, 7:21,400, £:25,900, F:25,100 458
20200 | _46% 458
2,300 | 41% 458
WAESE 8600 | 51% 458
1,100 | 44% . K:21,.900, 458
[ J 4,500 35% 24,900, :23,400, +:22,500, H:29,100 458
RRAE)=XH | RR(AE) 7500 | 5% 0. H:16.000 458
8,000 58% 500, #+:19,000, H:17.200 458
7.300 59% 17,000, £ +:18,000, H:16,500 458 00, & +:16,500, H:14.900
7,300 59% | :X:16,500, k18,000, + H:17,000 458 4 K:16.400, A:15,300, 16,100, +£:15.100
7800 | 58% 458 4 00
7500 | 5% 458 59%
B 800 | 60% 1 458 65% 700, H:14,100
800 | 60% |7K:17.000, £:17,300, £:18 458 65% 14,300
500 | 6l% 7,000, % +:17.300 458 65%
000 60% K:16.500, & +:17,300. H:18,000 458 63%
8500 | 56% 8,000, :17.,500, #:19,000, H:21,000 458 61%
| J 6.300 62% 7.300, 7K:15,800, A:16,800, & H:18,000 458 64%
RRAE)-RA | RR(AE) | J 7800 | 61% 500, 7K:19,500, A :17,400, H:17.300 458 66%
500 | 56% 500, 7K:22,000, H:17.800 458 63%
,000 59% 200, 18,500, 7k:20,000. 7:17.300, %:18.100 458 65% 0
,000 ,200, K:17,500. 7K:20,000, A:17,300, £:18,100 458 65% ,400, A:15,500, %:16,000, £:16.800, H:16,100
800 458 00 0
800 8 458 0
RI&5E ,000 A:17.300, & 458 L 0
500 | 62% | HA:16,.800, K17, 458 100, H:15,200
L 7500 | 62% . J16, 458 700,
L¢ 9,000 50% 700, 7k: 458 63% 7,000, 7K:18,000, :16,600 00, +:17.100, H:19,100
L¢ 0,000 57% [X:19,700, 7k: N 458 61% 8,000, 7K:19,000, :17,600 00, +:17.300, H:19,500
L¢ 6,500 64% [X:15,500, £ H:19,000, £:16,.800 458 69% [J7k:14,400, % H:18,000
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[ J LQEOO‘ A:18,100, £:18,400, 1:19.100, H:17.800 900, % +:15.400. H:14,900
[ JL 8,000, :X:17,500. 7K:20,000, A:19,000, H:17,400 . X:16,500, 7K:18,000, K:16,
[ J 8,300, :X:17,500, 7K:20,000, 7:18,000, H:18.400
[ J 7,500, 7K:20,000, +:18,800, H:17.400
[ JL 7.800, 16,500, 7K:18,800, 7:17,300, H:18,400
[ J 8,300, A:17,700, £:17,800, 1:17,300, H:19,600
| X:17,500, 7k:18,000, A:17,800, £:19,200, 1:17,300, H:19.600
AR [l |_60% |JkH:17300. JK:18,500, £:18,000. £:19,300
[ J 57% | :k:19,000. 7k:18,500, £:19,500, 1:19,800, H:18,200
[ J 59% 8,000, 7k:17,500, H:17.300
[ J 59% 7.500, 7K:17,000, 7:16,800, %:17,300, £:17.200
[ J 57% 8,500, 7k:18,000, A:17,800, £:18,300, 1:18,200
[ J 59% #:19,000, 17,500, H:19,500
[ JL 59% 9,000, :X:17,500, £:20,000. H:20,500
[ J 58% +:17,800, £:19,000, H:18,600
HRCHE-E28 | RmCHE) [ J | 62% |A:16.800, 718,800, $:17,500, £:17.300
[ J 61% 8,500, A#:17,300, +:17.800, H:16.500
60% 6,800, 7K:19,000, 7:17,000, 1:17,500
61% 500, 7K19000 ﬁEHBDOD 117300
[ J 60% N 217,300,
61% 1:17.800, ;R:t17300 315000 EI 18,500
ELES 60% 7.800, 417,000, 7}?17100 1:18,500, H:16,700
[ J 62% & 6,800
[ J 62% 7300 17500 317000 £:17.300,
[ J 61% 7,800, 7:16,900, 17,500, +:17.200.
[ J 59% 000, 25:1650& ZE:t:WGBOO. H:18,200
[ J 60% 7k:16.800
ER(PE)-ERS ESAE TS 64% 9,300, A:17,800, £:18,200, 1:18,700, H:16.800
57% 7,800, :19,000, 1:20,500, ,800
60% 9,500, $19400 £:20,000. H:16,800
67% 9,00 8,400, H:18,000
64% ., 7K:19,000, 315300 H:18,000
[ J 64% :18,500, 17,600, +:17,300, H:18,900
[ J 65% 219,500, 5:17700. £:19,100, H:20,000
65% :19,100, 7:17.300, £:18,900, ,600
BERER 63% :14,500, 14,600, +:17,900
64% . X:16,300, 5:14900. 1 H:17.800 500, X:14,500 :16,300, H:15,800
66% , X:15,600, 5:13900. 1:16,800, H:17,300 500, X:14,100 :15,300, H:15,800
65% 6,600, A:15,600, £:15,800, 800, H:18,900
[ J 61% 6,500, 5:15900. £:16,600, 400, H:19,000 600, 7K:15,000.
[ J 61% | :X:16.100, 7K:16.500, A:15.900, £:16.600, 100, H:20,800 500, ::14,600
[ J 70% :14,100, £:19,100, +:17,000, H:19,500 o
70% | A:1 :14,100, 16,100, +:17,000, H:19,500
NGRS T PNAGISE 52% | K:32,000, %:26,000, +:26,000
LB H 54% | F:23,700, 7K:25.: 200 1:25,100, H:25.400
B & B (s R) =#LIR (37 F EGED) 40% B
59%
69%
1%
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EEE) 724
69%
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[y 500 | 52% 2:26,000, 1:27.800 458 700
[ 500 | 52% 2:25,000, £:28,000 458 200
[y 500 | 54% 4,300 458 700
[y 900 | 63% 19,700 458 400
900 | 63% 19,700 458 400
LIR (37 F ) A 500 | 66% :13.400 458 ,000
[ 400 | 64% 458 900
[y 900 | 63% 458 400
900 | 65% |1 29,600 458 400
[ J 800 | 45% 25,400, %:23,500, £:24,300, H:38,600 458 700
| J 800 | 45% 25,400, £:23,500, £:24,300, H:38,600 458 700
)=HLIR (B )| KR (BAZE) 5[ 500 | 5% [H:2 25,000, £:23,700, £:26.100 458 100
[ J 900 | 67% 6,300, £ H:17.700 458 400
900 | 69% 5,100, £:16,300, £ H:16.700 458 400
LR (5T F ) A 500 | 66% 15,100, :13,400 458 ,000
[y 000 | 65% | XK:15,100, A:14,400 458 500
[V 25000 | 49% | H%:23,500 :t 24 400 5:26,100 458 900
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[J 800 | 65% 458 400
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[ J 458 00
458 00
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EBXE 458 00
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458 900
458 900
458 900
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ESEEE 458 300
458 700
458 500
458 400
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B 458 500
458 300
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458 200
458 800
| J 458 800
RERCAE) | _J 458 500
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[ J 458 200
[ J 458 600
458 600
B 456 600
458 500
458 800
[ J 458 900
| J 458 500
R CHE)=#l RRECRE) 458 600
458 400
458 300
458 200
[ J 458 600
458 200
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458 500
458 900
458 700
[ J 458 900
458 900
RR(CHE)=X5 RRECRE) 458 900
5,200, +:28,200 458 100
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458 700
[ J 458 600
458 400
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[ J 458 500
458 500
458 500
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[ J 458 200
[ J 458 700 26200, A:26.,400,
458 700 26,200, K:26,400,
458 600 K:26,400, :22.600,
458 700
Ri&5E | J X ouo 7kE| 20000, 4 21,500 458 .200
:19,000. 7 H:20,000, % F:21,500 458 .200
7K:20,500 458 000
458 200
5,600, A2 24000 458 200
00, £ z 800 458 200
R (HE)=] RRERCRE)F| J 458 600
23 800, £ H:25.100 458 400
[J 23,800 458 400
25,200 458 600
25,200 458 600
00, 7K:27,200, AK:28,500, %:24,700 458 400
[J 00, £:23,800 458 400
200, A:28,00, £:25600, 26,700 458 700
BA%E | _J ),300. 7K:19,000, A:18,500, £:20,500, £:22,500, H:21,500 458 400
,800, & %:21,000. +:22,500 458 500
. 20, 458 700
[J 00, K :19,500, % H:21,600 458 400 R
00, 7K A:20,500, H:22,500 458 100 18,900, B:19,500
800, 7K:19,300, :19,000, £:19500, H:20,500 458 700 8500, + |74on EI 9500
[J 00, 7K:19,300, A +:18500, H:20,500 458 700
[ J 00, 7 B:2( 458 700
RR(AE) -2l | RR(AE) %[ J 200, 7:28,500, :24,400. 458 ,900
[ J 00, 7K:27,200, AK:28,500, :24.400 458 800
6,800, A:2! 458 600
[ J 6,800, A:28,900, 458 800
[ J £:26,800, A2 458 200
7,200, 72 X 458 200
ECES 00, 7K:18,800, A:19,000, £:20,000, £:20.500 458 ,000 17,600, 7K|7wu :k!uou $|85on +:19.000
[ J 00, & H:19,000, 1:20,500 458 .900 17,600, & H:1 000
19,500, £:19,000 458 .900 H:18.500, &:1
9,500, 7KA:19,000. £:18,500. H:20.500 458 700
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| _JL653 ,800 42% | A:28,900, £:24,100, + H:25.700 458 700 4¢ :26,800, £:21,900, £H:24700 | 700
655 ,800 42% | A:28,900, £:24,100, + H:25.700 458 700 4¢ 226,
ERER ,500 56% | H:19.800, :X:20,000, 7K:18,500, A:16.000, H:19,300 458 200 il 17700 K:17,500, A:15,500, 218400, B:17.200 | A 500 ﬁ13400 8:17,200
L .000 54% | ::20,500, 7K7:20,000, :20,700, H:19,800 458 ,200 1 A:18,500, H:17,700
L¢ ,500 56% |7KA:19,300, H:19,800 458 ,200 1 K £:18,000, +:18, 7,
L ,500 56% |7KA:19,300, H:19,800 458 ,400 60% 00,
[ JL .000 54% | k7K:20,500, £:21,500, H:19,000 458 ,200 61% | 00, B
|_JL650 .000 54% | KK H:20,500, £:21,500 458 ,000 59% 2:20,000. ﬁi 18,200, H:17,800
| _JL652 ,800 57% 20, 000 }\ 18 000, 7K:16,000, £:20,500, 1:19,500 458 ,500 60% :18, K 5500, 2:18,
4 ,000 A:2 :19,800, £:20,500, F:19,500 458 .500 66%
KR (R -RBa | AR (A 5| L2 1900 3 oo *1 32,900 458 900 44%
25 B R L2 ,200 52% | 7A:32,000, 1 H:26,700 458 ,500 55%
XR(EF-B & ENACE ] IV 800 25% | /KA.27,800 458 200 33%
L2 ,500 21% | 7KA:29.500 458 800 29%
L2 ,700 32% | 7KA:25,000 458 800 39%
HHER L2 700 32% | %:25.000 458 500 48% :
L2 400 33% |£:24.400 458 000 38% o
L2 ,300 26% | £:27,300 458 ,600 32% o
ENACEE ] ENACOE ] INY 400 41% 458 600 48% | 73 /15,600, £:18.100
L217: ,700 43% 458 ,900 50% | H:19.600, kKA + H:14.900
L217! ,300 41% 458 600 48% | XJKA:15,500, +:18,100, H:19,600
PEE L217: ,800 42% 458 700 60% |+ H:18100
L217: ,100 44% 458 100 62% |H:18,100, 1:18,100
L2171 1,900 42% 458 800 60% | H:18,100, £:18,100
KR (EF =& RIR () 5 |_JL2201 500 45% 458 600 63%
| JL2203 ,200 40% 458 100 59%
|_JL2205 ,500 50% 458 700 55%
[_JL2207 ,600 7" 458 900 65%
[_JL2209 ,600 458 900 65%
L2211 600 458 900 65%
L2213 ,600 458 600 66%
L2215 ,600 458 600 66%
wes [_JL2200 ,600 458 000 62%
[_JL2202 ,700 49% | H:21,900, £:21,400 458 000 54% | B:11,800, 1:11,800
[ JL2204 ,600 44% 458 000 62%
|_JL2206 ,800 49% 458 200 62% | B:11,800, 1:11,800
L2208 ,800 49% 66%
L2 800 52% 66%
L2 800 52% 69%
L2 800 52% 69%
B B2 (D) =AU (91 T oy o 2 () 3L 400 |_38% 538,200, 39,500 4%
L ,200 59% 7,40 8,400, £ +:40,000, H:22,000 60%
L ,900 64% 7,90 2,500, H:21,600 65%
L 000 73% 4,200, £+ H:14,000 4% K.
L 000 7% 4,200, £+ H:12,000 78% | A:13.800, &+ H:11,900
WLIE (T F ) L 800 1% ¥ 5:13,300 74% 500, 2+ H:13,000
LS ,900 64% 4,900, 1:18,600, H:21,100 65% 00, +:17,600,
LS ,900 46% 5 ! 48% 200, 7K:24,400,
L ,900 46% 24, 300 & 24 400 t: 21 400 H:24,200 48%
L 25,400 43% 28,800, A:24,300 45%
L 15,900 64% 4,900, 1:23,300, H:27,000 458 .500 65%




rsgn

15| SEER (8A19~25H1EF S

EEHAB
FBITA #185178
= E—5%
ERE |Gl % - %
HECHE) =/ 200 | 64% |FH:13,800, :13,100, £:14,000, H:13,600 iz.wo‘im.so . E:13.100
700 | 62% | A:14,300, £:13,600, £:14,500, H:14,100 [£:12,900, £:14,000, H:13,600
700 | 65% 3,800, £:13,300, £ H:14,700 [£:12.400, & H:14.200
900 | 59% |H:13,800, £:14.700, F:14,200, H:14,600 [ A:12.300, %:14,200, £:13.700, H:14,100 |
400 | 57% 3,800, :15,100, +:12,600, H:15.500 [ 5:12,300, 7:14,600, & H:11,700 |
700 | 65% | A 1:13500, £ H:12.000 [ A:13,000, &+ H:11,500
900 | 59% 3,200, + H:12,600 [ 5:13,800, %:12,700, & H:11,700
700 | 65% | A:14,900, £:14,200, F:14,700, H:14500 | 5:13.800, £:12,400, £:14.200, H:14,000
,300 | 58% 5200, £:13,100, H:14,000 [ A:13.800, £:13,000, H:13.900
800 | 56% | B H:15,200, %:16,000, £:15,000 [ 5:13,800, %:15,900, & H:14,100
R (HE)=LE 100 | 65% 3,400, % H:12,400. 12,800 | A:12,900, £ H:11,900, £:12,300
,000 | 51% 4,800, £:17,600, & H:12.700 [ 5:13.400, & H:12,000
,000 | 51% 4,800, £:17,600, & H:12.700 [ 5:13.400, & H:12,000
700 | 55% | 4:14,800, £:16.500, & H:13.200 [ 5:13.400, %:16,000, & H:12,200
100 | 65% | H:14800, B:14200 [ 5:13.400, £:12,700, £:13,000, H:13,800
100 | 65% | A £:14800, B:14200 [ 5:13.400, F:13,000, H:13,800
300 | 59% |H:14800. B [ 5:13.400, & H:12.700
300 | 67% |/5:14.800, £:16.800, £ H13,000 [ 5:13.400, #:16,300, & H:12,600
200 | 62% 13,000 600, H:12,500
100 | 56% 5900, £ H:13,300 12700
[J 400 | 64% | B:12,600 3 £:12,00, £:12,700, H:12.100
100 | 65% |5 2:14,400, T H:13,800 3:13,900, £:12.700, + H:13,700
000 | 59% | H%:15700, I H:13,400 £:15,000, T H:12.700
000 | 59% | H%:15700, I H:13,400 3 £:15,000, T H:12.700
300 5,600 +H:13,700 000, #:16.200, & H:13,300
200 1:16,000, :18,300, & H:13.200 000, £:17,000, & H:12.700
AR E)-EE 600 13,100 12,700
600 13,100 700, H:11,800
000 5,000, £ H:12.200 000, +:11,800
000 5,000, £ H:12.200 000, +:11,800
400 6,000, + H:12.200 300, £ H:11.800
600 12,200 11,800
600 12,200 11,800
400 15,600, + H:12,300 100, T H:11,900
700 12,500 100
200 12,500 100
200 100, T H:13,400 400
200 500, & H:13,400 2,200
600 >115,900, £ H:12.500 500, & H:12.100
600 ,900, = H:12,500 12,100
500 200, F:15,700 11,800
500 700, £:19.100, H1:16.600 1000, £:17.300, H:14500
500
700
700
700
700
600
,600 5400, +:16500, 14000
,000 5,600, + H:15,900
000 6,000, 000
300 -1
600 | 45% |£:20,100. £:16,100, H:20,000
000 | _4d% 20,400, F:15,600, H:19.000
R (CHE) =/ .900 55%
200 | 54%
300 | 65%
400 | 504 4,300
300 | 51% 0. H:16,400
000 | 55%
000 | 57%
300 | 65% |£:14,000, £ H:14,400
500 | 56% 000, F:13,900, H:16.200
300 | 51% 600, F:13,400, H:17.300
HE CHE)=#21l 200 | 63% 4,600, £:15,700, H:13,700
200 | 52% 14700
000 | 564 500, 117100 :15,400
,700 | 64%
,200 | 52%
900 | 51%
100 | 53%
200 | 554
600 | 62%
900 | 61% ,400, :14,700, H:16,700
300 | 52%% 700, :14,400, H:18,800
300 | 5% 700, £:14,400, H:18,800
HER CHE)=X: 500 | 59% 000, H:16,000
000 | 58% |A:17400. £:19,000. £:19,500, H:17,500
000 58% |FH:17,500, % +:18,500
000 | 58% |JIKA:17,500
500 59% | +:17,900, % H:18,500
7500 59% |F +:17,900, % H:18,500 7.100, H:16.700
900 | 46%
500 | 45%
500 | 45%
500 | 45%
500 | 45%
100 | 46% |
R (CHE) =R 800 | 61% |H:18.60(
8900 | 59% [/9:22.100, £:20000, £:19,700. H:17,800 mo %:17.800, T:17; 500 H:15,700
7.800 £:19,200, #:17,900, H:18,200
7.800 £:19,200, #:17,900, H:18,200
7.800 18 0, #:16,100, E|159m7
7800 | ¢ £:18,000 500, £:16.100, H:15.900
500 | 49%
500 | 49%
900 | _48%
900 | _48%
900 | 48%
500 | 49%
R (FHE)= 600 60%
7800 | 59% |£:18,000, £:18.300
8,000 59% H:17.100, #:16.100, H:15,200
7,800 59% F:16,600, 16,200, 7K :15,700
7.800 59% [:18,300, £+ H:17,900 F:16,600, 16,200, 7k :15,700
7.300 60% [# H:17,400
7.300 60% [ %:17.800, H:18,000 H:16.600, % H:15.700
7.300 60% [5:17.400, % H:18,400 H:16.300, % H:16,500
500 | 46%
500 | 46%
500 | 46%
500 | 46%
500 | 46%
500 | 46%
500 | 46%
500 | 46%
EAC ] 300 | 60% 16,800, £:17,900 115,800, :16.400, £:1
7500 | 60% 17,300, :18,000
7.300 60% 7,500, 7K A:17,900, £:18,900, +:18,500
7500 | 60%
7300 | 60% |H:17.800, £:17900. H:18,700 E
7300 | 60% |JK:17.000. £ H:18500. £:16,800 1515600, 17300, £:15.100, £:17200
500 | 46%
400 46% | A X:23,500
500 | 46%
900 | 5%
900 | 5%
800 | 45% | A X H:23900 i B:21,800
Hm (HE)=ER 800 1 8,000, £:18,200, +:18,700
7.800 1 8,900, A:17,900, :18,800, £:19.500
7,900 1 %:18,400, 1:18,900, H:17.300
5,000 7" 900, #:17,600, H:17,100
7300 | 62% 17,900, £:17,600
7300 | 62% |H:17.900, %:17)500, H:18,000
800 | 64% 7.500, 7:16,900, £:18,100, H:19,200
800 | 64% |F:17,600, 7:16.900, #:18,100, H:19.200 00, 15400, B11
500 | 49%
500 | 49%
500 | 49%
500 | 49%
500 | 49%
500 | 49%
500 | 49%
500 | 49%
PNACE s T 25,100 52% | H:25,000, £:27,100, 1:28,000 A:21.800, £:22,900, £:22,900
23,800 54% | R$:23,700, £:25.100. H:25.400 2:22,000, + H:23.800




[%/BE5 BER(BA26~31AEEN

EEHEAR 2019/05/23 ~

8/26-31
K 23 FAITA FEHIB
8 | anam e 8 | mpm |20
AMR| T _ AR | T | #I51E
HR CFIE) =MW HRCRE) % B#il 600 65% 12,900, %:13,100, £:14,000 45E 70 100 67% |J
,000 67% 400, 12,800, 1:14,500 458 .500 68% 2,800, $:12,300, 14000
,000 67% 12,700, %:12,800, +:14,500 458 .500 68% 12,300, 1:14,000
,700 59% 14,900, %:14,300, +:14,200 458 ,200 61%
400 57% 900, £:15,800, £:12.600 4568 | 14900 59% | A:14.
[T ,000 67% 12,700, 1:13,500 458 .500 68% |4:12
900 59% 13,200, 1:12,600 458 200 61% [%:12,700, £:12,500
000 67% 12,700, %:12,800, +:14,500 4588 | 11,500 68% | A 12,300, £:14,000
,200 58% 16,300, 1:13,500 59% | 4:12,500
800 56% 16,900, 1:14.300 57% | 115800, 1:13.300
RRPBH-LE | RRPER 400 [ 66% 2,800 68% |+:12,300
600 52% 000, £:13,100 56% | 4:12,800
600 52% 17 g 56% | £:12.800
500 55% 8 58% | +:12.800
100 65% 66% | £:12.800
100 65% 67% | +:12.800
300 59% 15 60% | 4:12,800
,800 57% 300, 1:13,800 59% | %:15,800, +:12,800
L% ,200 62% :14,100, £:13,700, +:13,800 3.200, 1:13,700
900 57% |#:15,300, 1:11,600 1,300
,400 64% 7K A:12,400 2,500, £:12,700, 1:12.900
400 66% 213,400, 1:14,600 2,700, 1:13.600

800 60% 5,500, 1:12.800
800 60% 5,500, 1:12.800

onoouE

900 | 54% 2,800
[ 200 | 54% 458 700 | 58% 7,000, £:12,800
HRACHE)-#8 | SR CHE) R|_JU 600 | 56% 458 100 | 60% 1600, £:12.700
600 | 56% 600, £:12,700
000 | 6%
000 | 6%
400 | 57%
600 | 56%
600 | 56%
BER 400 | 57% 45B 81 | 13900 | 61% 1600, £:11,900
700 | 59% 458 200 | _66% 1600, £:12,100
200 | 60% 458 200 | 66% 11,600
100 | 58% 458 400 | 65%
100 | 58% 458 200 | 66%
600 | 56% 45B 81 | 13000 | 63%
600 | 664 [%:13. 458 100 | 60% 1600, £:12.100
R (FH) RRECRE) % 500 59% _tW 0.700
500 | 48%
700 | 56%
700 | 62%
700 | 62%
800 | 47% 700 % 115,800, £13400
800 | 44% 17.300, £:13,500
BIARE 600 | 59%
600 | 56%
000 | 6i%
000 | 61% [&E:
300 | 57%
600 | 45% 8,600, £:15,800

| J 800 | 47% |%:17,100, +:14,800
R (CHE) =/ HECRE) $|_JL 900 55%
200 | 54%
300 | 65%
400 | 50%
300 | 51%
B 000 55%

000 | 57% 5200, £:16,100
300 | 65% |%:£:13,900
500 | 56% 16,000, £:15,000
[ J 300 | 51% 8,100, F:13,900
HRCHE L | RmCHE)R[ _J 700 | 64% 14,400, %:15,000

7.600

000 | 56% [%+:15000
,700 | 64% 5,000
,000 53% [5:17.700, %:17,800, £:15.600
,900 51% [:19,600, :15500
PAITES 100 | 53% 7.000. £:16,400
200 | 554
400 | 62%
500 | 62%
300 | 5%
300 |_5: >118,000, F-14,100
R (HE)=X5 HRECAE) & 500
500
500 ;
500 458 ,200 64% |:15500, +:14.300
500 45887 | 13900 67% | A:14
500 [£:17,500 45887 | 14900 65% | A:15.500, $:15.900, £:14,500
EAX3 300 | 62% [£:16900 450 100 | 67% 800
000 | 60% [kt 45EF1 | 14300 | 66% 00
800 | 60% [H:17 ooo 458 100 | 64% 400, %:14,900, £:14,700
800 60% [ 5:17.0 458 500 63% | F:15.800, $:14,900, +:14,700
500 56% ﬁaooo A& £:17.800, %:18,800 458 400 00, 7:16.500, :1
800 | 58% 450 700
RS (FH)= HE(FE) F[JL623 100 63% 458 700
500 62% t:18,000, #:16,600 458 600
000 59% |H:17.000, KIK:16,500 45887 | 15800 15,500, £:15,900, 1:16,000
000 1 16,500, +:17.400 458 100 00, +:15,300
7,000 1 K IK:16,500 458 100 00, +:15.300
800 4% | %:16,600, £:16.300 458 500 4,900, £:14.200
800 1% | 217,000, £:16.300 450 600 £:14.700, 1:14,200
800 1 7,100, #:17,400 458 100 00, +:14.800
233 800 | 50% [+:18400 45EFI | 15800 | 64% 100, 3:16.300
8100 | 58% |JJK:18,600, A:18,500. %:18,300 450 700 | 64% | +:15.800
7800 | 5% 450 700 | 64%
800 61% |8 1 800, 7K:16.300, #:17,300, +:16,000 458 700 66% | H:15700, 7k:14,100, £:15,200, +:13,700
500 58% 100, 7k:18,000, %:18,600, £:17.800 458 700 2X:16.100, 7K:15,300, 7:15,900, +:14,900
000 59% )d: 17,800, #:18,800 458 700 7%:16,000, #::16.700
800 59% 0, 7K A:18,000, %:18,800 458 700 2:16.000, $:16.700
[ J 7800 | 5% 450 700
R (HA) =25 HE(HE) F[_JL68T 800 :16,000, £:16,500, 1:16,300 458 100 68%
| JL689 800 £:16,000 450 100 | 68%
L691 000 J:15,500 45EF1 | 13900 | 68%
| JL693 500 45EF1 | 13900 | 68%
[ JL695 300 F#:16.800 458 400 67%
L697 000 | 63% 450 400 | 67%
B 300 | 60% | +:17500, X:17.000 450 400 | 65%
7000 | 61% |%k7k:16,800, £:17,300, £:16,900 450 100 | 65%
6800 | 61% 65%
7800 | 5% 64%
7.800 59% 64% |KAE:15700
[ J 7.800 59% 68% [F:14,100
Ra (HE)-ER, EAC S 5,800 66% | A£:16.000, 1:16,500 ¥ 1 B:13,500, A:14,100, #:14,500, 1:15,300
L643 7,900 61% | X7K:15,800, £:18,500, £:18.400 458 400 7% | KK:14,500, :15.900, £:16.400
L645 7300 | 62% [7K:17,000, F:17.500 450 400 7% | 4:16,300, 1:16.500
L647 000 [ 70% 1
L649 000 [ 70% 1 _
L651 300 | 67% |H$:16,000 700, £:14,300
| JL653 ,800 66% | A:16,900, A:16,000, :17.000
L655 800 66% | F:16.800, A:16,000, :17.000
BERER L 100 | 63%
L¢ 6,800 64% 7800, £:17,500
L 6800 | 64% t:17,000, %:17.500
L 7300 | 62% 800
[ JLe 6,000 65% 300, 7K:16,800, #:17.800, +:16.200 N
[ JL650 7300 | 62% 8,300, 7K:18,200, %:18,400 200, 7K.15,600, 16400
[ JL652 7300 | 62% 500 700
L654 7300 | 62% 500 700
KB (A =% | KERUR) | JL2101 25,000 52% 100, X:24,100, 7K:24,200
ZERI% | JL2102 23,700 54% | :23.800 458 000 58% |FX:22.100
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MEB8E5| 1 BER(TA12~15BEESH)

EEERE 2019/05/23 ~
P N P N 7/12 7/13 7/14 7/15
- wp || R s A 7 B| EATA] A7 E| T A] KRATE| ERITA] ZRAITE
oy | maoe | BEW | BEW | BE® | SE@ | S4E | @58 | #58 | AR
HR(CAE)=HE HR(PE) R 288 =] 11,700 11,200
28 15.400 14.900
28 19,000 | 17.800
28 20.200 .300
28 23,700
HER 28 20.000
28 22,000
28 19.600
28 25,000
28 1.900
TR CAE)-@6 | RRCRE) 5| _J 28 7,700
28 7.700
28 7,700
28 7.700
28 7.700
28 7.700
28 ,200
EERR 28 .700
28 ,700
28 700 [ 13
28 700 13
28 400 [ 13
28 400 [ 13
28 400 [ 13
RRCAE)-BE | RRCAE R 28 000 14
28 800 15
28 900 13
28 .900 13,
28 900 13,
28 000 15
28 200 17
=1 28 .300 13.
28 300 13
28 500 [ 13
28 .500 14,
28 000 [ 14,
28 600 12
28 20,400 [ 14
RRCAE)-BA | AR CRE % 28 000 IE
28 600 [ 13
28 600 [ 13
28 600 14
28 ,000 18,
BAF 28 5 15.600 13.
28H 5 H 15,600 13,
28H 5H 5.600 13,
28H 58 9.200 1
28H 5H 1.100 1
TR CAE)-Il | R CAE 281 5H 7200
28H 5H 18.900
28H 58 15,100
28H 5H .800
28H 58 000
28H 5H .000
EITES 28H 58 .200
28H 5H 15.200
28H 58 15,200
28H 5H 7.800
28H 58 9.600
28H 5H 9.600
RR(CRE)=K5 RERCRE) % 28H 56 7.500
28H 5H 19.000
28H 58 18.000
28H 5H 17.000
28H 58 18.500
28H 5H 29.700
K5 28H 58 17.100
28H 5H 17.000
28H 58 16.500
28H 5H 17.500
28H 58 19.500
28H 5H 18.800
TR CRE)-RM | AR CAE % 285 5H 18,800
28H 45H 21,400
28H 45H 20.600
28H 45H 20,500
28H 45H 20.000
28H 45H 21,000
RIGH 28H 45H 18.500
28H 45H 18,500
28H 45H 18.400
28H 45H 20,300
28H 45H 20.300
28H 45H 21,400
TRCRE)-FeR | Rm CAE) 28 458 16,700
28H 45H 18,600 20,100
28H 45H 20.300 21.300
28H 45H 19,500 20,800
28H 45H 18.500 19.800
28H 45H 18,500 17,000
28H 45H 19.700 0
28H 45H 20,700
REAS 28H 45H 18.500
28H 45H 19,500
28H 45H 18.300
28H 45H 18,000 11,800
28H 45H 19.000 11.800
28H 45H 18,500 13,700
28H 45H 20.300 13.700
28H 45H 29,700 13,200
RE(PE)-EH RECRA) % 28H 458 17.500 11.400
28 45 17,500 11,400
28 45 18.000 12,200
28 45 18,500
28 45 18.500
28 45 18,500
T 28 45 18,000
28 45 16,500
28 45 17.500
28 45 8,000
28 45 8.300
28 45 7.800
RHE)-ERE | RRGER 28 45 9000
28 45 20,500
28 45 21,000
28 45 20,000
28 45 19.000
28 45 18,000
28 45 20.500
28 45 20,500
BRER 28 45 17.800
28 45 17,600
28 45 17.400
28 45 17,300
28 45 19.200
28 45 18,400
28 45 20.100
28 45 29,700
AEFR-BE | AR FDE 28 45 23300
28 23.300
28 22.800
EHR 28 23.300
28 24.300
28 25,300
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waone | mooe | BE® | EE® | EEm | SEW | SR | SR | EAW | SR
P AC ] PNACEES 280 =] 20,200 19,400 17,500
28 19.600 19.200 17.500
28 21,700 20,200 19.000
B 28 20.200 20.000 18.300
28 18.400
28 20.200 22
KR (FER=E | KR (FRE[J 28 800 [ 15
28 800 |15,
28 800 | 15/
28 .800 |15,
28 ,800 | 15, X
28 800 |15, |23,
28 .000 [ 15, |23
28 .700 |15, |24/
Wa%E L 28 800 s, [is.
T 28 .800 |15, |15,
| JL 28 800 |15, | 17
T 28 .800 |15, |_18.
| JL 28 800 |15, | 23
T 28 800 |15, | 23
JL: 28 500 |15, | 24,
J 28 800 | 1 |23,
KR (B =58 | AR (D %[ 28 300 e [ 16
T 28 800 | _16. | _16.
[ ol 28 ,800 1
J 28 .700 1
FRE | 28 800 i
T 28 800 1 |16
| JL 28 800 1 16
J 28 800 I |16
KR (FR=X5 | KR (B %[ 28 900 1 15
T 28 400 E | 15
J 28 .900 1 |16,
KAE | 28 500 | 1 | 15.
| JL 28 500 |15, | 16,
J 28 500 | 1 | 15,
KR (R =RK | KR () %[ _J 28 800 15, 15
J 28 .800 15,
| JL 28 500 I
J 28 .300 1
RExE [ U 28 ,700 1
J 28 .500 1
[ JL 28 500 | 14
JL2378 28 5 15.000 1
KR (5% %[ JL2383 | 28H 5 15,600 | 12,
JL2385 28H 5 15.600 14,
JL3881 28H - 15.600 14
JL2389 28H 45 B Al 15.600
RERFR JL2382 28H 45E Al 14.800
JL3880 28H - 15.400
JL2386 | 28H 58 15.400
JL2392 28H 5H 15.500
KR (FFD=80 | KR (FD %[ J2431 | 288 5H 14,700
JL2433 28H 5H 18.200
JL2437 28H 58 18.600
JL 28H 5H 18.600
JL 28H 5H 20.500
BER JL: 280 58 16.000
JL 28H 58 16.000
JL 28H 5H 17.500
JL 28H 58 17.500
JL 28H 5H 18.400
KR (B -BERS | KB (B % | JL 28H 5 14,800
JL 28H 5H 14.800
JL 28H 58 14.800
| JL2409 | 28R HE 14.800
JL2411 28H 58 14.800
JL2415 28H 5H .800
JL2419 28H 58 .200
BERB% | JL2400 | 28H 56 .300
| JL2402 | 28H 56 800
JL2404 28H 5H 14.800
| JL2406 | 28H 56 14,800
JL2410 28H 45H 16,300
JL2412 28H 458 16.800
JL2414 28H 45H 16,800
65 (R ER) =ALIR (B T B & 2 (PP ) 3] JL3103 | 28 45H 33,400
JL3105 28H 45H 26,300
JL3107 28H 458 17.500
JL3115 28H 45H 20,700
JL3117 28H 45H 19.700
WLIE (37 F2) A _JL3100 | 28H 4508 14,300
JL3106 28H 45H 15.300
JL3110 28H 45H 25,500
JL3114 28H 458 26.300
JL3118 28H 45H 29,300
ZHEBOM=EE RKREEMD JL4401 28H 458 14.000
JL4403 28H 45H 14,000
JL4405 28H 458 15.400
JL4413 28H 45H 15,400
JL4415 28H 458 15.500
FES JL4400 | 28H 4508 10,800
JL4402 28H 45H 13.300
JL4410 28H 45H 14,100
JL4412 28H 45H 14.900
JL4414 28H 45H 14,400
IR BT &) =kE5 LR BT A JL2713 [ 288 458 13,800
JL2715 28H 45H 13,800
JL2719 28H 458 13.800
THNFE JL2712 | 28H 45H 100
JL2714 28H 458 .800
JL2718 28 45 ,000
IR TR)=HHF  HLIR TR H_JL2803 28 45 .800
JL2805 28 45 13,800
JL2809 28 45 13.800
Er 13 JL2804 | 28 45 5,800
JL2806 28 45 5.800
JL2810 28 45 7,700
WLIR (37 F ) H_JL2821 | 28 45 5,800
JL2827 28 45 7,800
HEE JL2822 | 28 45 9,800
JL2828 28 45 1,700
IR TR =38 R JL2871 28 45 1.800
JL2877 28 45 19,800
WLIR (37 F i) 5_JL2872 | 28 45 17.800
JL2876 28 45 17,800
FLIR BT F ) =& ez JL2901 28 45 23.200
JL2903 28 45 24,400
JL2905 28 45 23.200
JL3981 28 45 23,200
JL2907 28 45 23.200
JL2909 28 45 25,800
WLIR (37 F %) #_JL2900 | 28 45 19,800
JL2902 28 45 20,600
JL3980 28 45 20.600
JL2904 28 45 20,600
JL2906 28 45 20.600
JL2910 28 45 22,700 20,900
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oy | maoe | BEW | BEW | BE® | SE@ | S4E | @58 | #58 | AR
BE=LE [EEE N 288 =] ,800 24,800 22,100 22,000 .000
28 .800 23.200 19.400 22,000 | 21.000
wex | J 28 .800 26.800 25500 | 22 700
28 .800 26.800 23700 [ 22 .700
BE-EH EAED 28 7.800 7.800 7.200 [ 6.300
| J 28 7.800 .300
28 7.800 [ 6.300
28 7.800 .300
[ 28 7.800 300
28 7.800 00
28 7.800 [__7.500
B 28 8.800 .300
J 28 8,800 [ 6.300
| J 28 7.800 .300
28 7.800 [ 6300
28 .800 .300
[ 28 800 [ 6.300
28 .800 .300
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KIR (FRFH =48R (31 F 8)| KR (BFH | JL3911 | 288 =] 23,500
28 23,500
28 23.500
28 22,500
28 7.900
28 7.900
HLIR (357 F58) H_JL: 28 5.100
28 7.400
28 7.900
28 6.900
28 26.800
[ JL2016 | 28 26.800
KR (BAEE) =#LIR (3 F#8%)| KB (BIdE) 5| J 28 23,500
[y 28 .900
L 28 ,900
FFLR (37 F %) 5L 28 100
[ L 28 100
J 28 25.000
FR CRE) =R RR(PR)F| J 28 .500
J 28 600
J 28 ,600
J 28 400
J 28 800
[EIES J 28 500
[ J 28 900
J 28 600
J 28 400
J 28 000
HRECABR)=LES RR(PR)F| J 28 .900
[J 28 20.700
[ J 28 20.700
[J 28 500
J 28 400
[J 28 400
[ J 28 .000
J 28 500
Le% | J 28 4,900
[J 28 7.800
[ J 28 900
[J 28 .900
[J 28 400
[J 28 600
J 28 8.100
JL266 | 28 600
RRCHE)=E8 | #om (FE) 5| _JL453 | 28H 900
JLa55 | 28H .900
JLa57 | 28H 700
JLa59 | 28H 700
JLa61 | 28H 900
JL463 | 28H .900
JLa65 | 28H 900
e JLa52 | 28H 26.700
JLa54 | 28H 22.300
JLa56 | 28H 22.300
JLa58 | 28H 1,500
JL460 | 28H 1,500
JLa62 | 28H 1,500
JLa64 | 28H 1,500
RRCHE)=@HL | BUR (FE) 5| _JL475 | 28H 9.600
JLa77_|_28H 25.100
JLa79 | 28H 19.600
JLagl | 28H 19.600
JLa83 | 28H 19.600
JLags | 28H 20,600
JLag7 | 28H 21,600
BRRE JLa74 | 28H 20.600
JLa76 | 28H 1,600
JLa78 | 28H 9.600
JLa80 | 28H 9.600
JLag2 | 28H 1,600
JLaga | 28H 3.000
JLag6 | 28H 22,000
RRCHE)=& R CRE) %[ _JL491 | 288 26.900
JL493 28H 26,100
JLa95 | 28H 23.100
JL497 28H 24,600
JL499 | 28H 26.200
ERES JL490 | 28H 26,200
JLa92 | 28H 26.900
JL494 28H 23,100
JL496 | 28H 27.300
JL498 28H 27,300
R CRE) =t RRCPE) [ _JL431 | 288 22,600
JL433 28H 26,600
JLa35 | 28H 27,000
JL437 28H 22,600
JLa39 | 28H 25.900
JL443 28H 27,800
PTED JL430 | 28H 25.900
JL432 28H 24,000
JLa34 | 28H 23.800
JL43 28H 24,300
JLa3s | 28H 28,800
JLA4( 28H 28,800
RRCHE)=R% | BR (FE) 5| _JL661 | 28H 19.500
28H 20,500
286 19.500
28H 19,500
286 20,500
28H 21,500
R H JL662 | 28H 18.500
JL664 28 18,300
JL668 | 28 17.500
JL670 28 17,500
JL672 | 28 19.000
JL674 28 16,800
RECRR)=Ri& HECRME) %[ _JLeos | 28 23,000
JL607 28 25,500
JL609 | 28 24,000
JL611 28 23,000
JL613 | 28 21,500
JL615 28 21,500
&R JL606 | 28 18.500
JL608 28 19,500
JL610 | 28 20,000
JL612 28 23,000
JL614 | 28 23,000
JL616 28 20,200
RECRE)=RER HECRE)H|_JLe23 | 28 19.600
JL625 28 21,500
JL627 | 28 21,500
JL629 28 20,500
JL631 | 28 19.500
JL633 28 20,000
JL637 | 28 20,000
JL639 28 20,500
AR JL622 | 28 17.500
JL624 28 19,500
JL626 | 28 18.500
28 7.500
28 500
28 ,000
28 .000
28 ,800
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RRE(HE) =28 RRCEE)F| J 288 =] 19,500 1
28 19500 | 1
28 20000 |13
28 20500 | 1
28 20,500 | 18,
28 20.500 9,000 _|
HEE 28 9.000
28 7.500
28 7.500
28 7.500
28 8,000
28 7.300
KR (B =kib5 [ KR(EFD R 28 2,000
e ] 28 25.200
KR () =FFH KB (G FH) 5 28 32,800
28 34,500
28 29,700
HHER 28 25,000
28 24,400
28 27.300
KR () =Rk E KR (75 % 28 23.400
28 22.700
28 23,300
PES 28 22.800
28 22,100
28 22.900
KR () =1LE KB (%[ J 28 20.500
28 22.200
28 500
28 600
28 600
28 .900
28 600
28 .600
was 28 20,600
28 23.700
28 20,600
28 20,800
28 8.800
28 8.800
28 7.800
28 7.800
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AR | B AR EEE | EEH | @85 | E85% | #8858 | 55 | 558 | 288
R CRE)=HLIR (F )| "R [ _JL501 | 288 ] 26.200 33.700 33.700 32,700 26.800
28 26.200 35,700 700 | ¢
28 26,200 35,700 700
28 26.200 35,700 .700
28 26,200 35,700 700
28 26.200 35,700 700 | ¢
28 26,200 5700
28 100
28 100
28 100
28 100
[ J 28 100
J 28 5700
[ J 28 35,700
[ J 28 35,700
J 28 5700
J 28 1.200
HLIR (37T F i) H_J 28 7.900
[ J 28 .000
[ J 28 .000
[ J 28 800
[ J 28 500
J 28 .200
J 28 20,000
J 28 20,600
J 28 20,600
J 28 21,000
[ J 28 1.000
[ J 28 21,000
[ J 28 20,600
[ J 28 8500
[ J 28 8.800
[ J 28 8,000
J 28 7.900
KR (751 =18/ KB (55 5 [_JL 28 4,700
T 28 .800
Ji 28 800
#wExE |l 28 .700
[l 28 800
Ji 28 4.400
RERCPE)=X®HA |[RRPE)F| J 28 6.700
J 28 36.700
J 28 33,700
ZHRI%E | _JLs62 | 28 27.800
JL564 | 288 27.800
JL566 | 28H 29.900
RE (@)=l W CAE) 5| _JL551 | 28H .700
JL553 | 288 .700
JL555 | 288 .700
JL557 | 28H .700
JIIIES JL552 | 288 .100
JL554 | 288 28.900
JL556 | 28H 34,900
JL558 | 28H 29.500
RRCHE)=gIE | ®=RE) ]IS 288 36.700
JL5 288 36.700
JL5 288 33.700
FEES JL5 288 28,900
JL5 288 27.700
JL5 288 28,300
RR(PE)=H5 RERCRE)F[_JLS 28H 700
JL57 288 .700
JL57 288 700
JL57 288 700
B JL57 288 28,000
JL57. 288 7.700
JL574 | 288 7.700
JL576 | 28H 7.400
A CRIR) =B R CRE) %[ _JL585 | 28H 1.700
JL587 | 28H 1.700
JL589 | 28H 28.700
S JL584 | 28H 23.200
JL586 | 28H 25,300
JL588 | 28H 25,300
FRCRE) =R RRECPE) % |_JL231 28H 7.400
JL233 | 28H 7,400
JL237 | 28R 6.900
JL239 | 28H 6,900
JL241 | 28R 7.900
IS JL232 | 28H 3,500
JL234 | 28R 4.900
JL236 | 28H 4,900
JL240 | 28R 5,400
JL242 | 28H 5,900
RR(AB)=E8 RRECPE) %[ _JL253 | 28H 8.900
JL255 | 28H 9,700
JL257 | 28H 20.200
JL259 | 28H 20,100
JL261 | 28H 8.800
JL263 | 28H 9,100
JL265 | 28R 9500
JL267 | 28H 9,500
=S JL252 | 28R 4.900
JL254 | 28H 7,800
JL256 | 28H 4.900 |1
JL258 | 28H 7,900 16,500
JL260 | 28H 8.400 12.800
JL262 | 28H 20,100
JL264 | 288 18.600
JL266 | 28H 18,500
RECAR)=ILOFH | RECAB) R JL291 | 28H 20.200
JL293 | 28 21,200
JL295 | 28 21.200
JL297 | 28 21,200
\WOFEsE | JL290 | 28 16.700
JL202 | 28 16.700
JL294 | 28 17.200
JL296 | 28 17,200
RECAR)=HE HECRE)F|_JL277 | 28 29.600
JL279 | 28 29,600
JL283 | 28 29,600
JL285 | 28 29,600
JL287 | 28 29,600
HER JL276 | 28 25,700
JL278 | 28 27.300
JL280 | 28 27,300
JL284 | 28 27.300
JL286 | 28 27,300
RRCAB)=#S5 HECRE)F|_JL4s3 | 28 21.800
JL455 | 28 26,700
JL457 | 28 25,800
JL459 | 28 24,800
JL461 | 28 24,300
JL463 | 28 25,700
JL465 | 28 26.200
BER JL452 | 28 20,500
JL454 | 28 21.800
JL456 | 28 21,800
JL458 | 28 21.500
JL460 | 28 21,500
JL462 | 28 20.500
JL464 | 28 21,500
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RRCRB) == R CRE) % 288 ] 23700 25000 24,
28 24.100
28 22,300
28 23,000
28 23.000
28 23.800 1
28 25,300 1
B 28 22.800 T
28 900 19,
28 100 17
28 ,600 17,
28 000 19.
28 23.000 19,
28 22.700 18
HECRE) =B RR(PE)F 28 31,100 27.:
28 33.300 28
28 29.600 27,
28 28.200 [ 23
28 29.100 23
B 28 26.200 [ s
28 9.800 [ 19
28 4.400 22
28 7.100 [ 19
28 7.300 21,
FR CRE) =t HR(PE) R 28 26.800 [ 27
28 28.300
28 29,600
28 28.400
28 28,200
28 28.700
EATIES 28 25,900
28 24,000
28 26.200
28 27.800
28 29.800
28 27,500
R CRE) =K% RRCRE) R J 28 28.900
28 29.700
28 29,700
28 29.700
28 29,700
28 33.700
EE 28 22,700
28 22.700
286 700
28H 700
286 500
28H 500
AR CRE) =Ki& RRECPE)# 28H .700
28H 29.700
286 29.700
28H 29.700
286 9.700
28H 3.700
RER 288 4,400
28H 800
286 800
28H 800
286 800
28H 700
R CRIE) =} RRECPE)# 28H .700
28H 29.700
286 29.700
28H 29.700
286 29.700
28H 29.700
286 29.700
28H 29.700
AR 288 500
28H 800
286 500
28H 800
286 4.400
28H 23,700
286 23.700
28H 23,900
RE(CRR)=515 RERCPE) % 28H 29.700
28H 29,700
286 29.700
28H 29,700
286 29.700
28H 33,700
EEES 288 23.800
28H 23,800
286 23.400
28H 23,000
286 23.400
28H 23,800
ER(PB)=ERE [RRED)H 28H 29.700
28H 29,700
286 29.700
28H 29,700
286 29.700
28H 29,700
286 29.700
28H 33,700
BRER 288 22.700
28H 23,100
286 23.400
28H 23,400
28H 23.800
28 24,100
28 23,500
28 23,500
KR (FFH=H&F KR () % 28 26.100
28 32,800
28 32.800
BAR 28 19,300
28 29.300
28 29,300
KR (5 =RE KR () % 28 24,700
28 22,800
28 24,600
HER 28 21,700
28 21,700
28 22,400
KR (FFH =& KR () % 28 19.800
28 21,200
28 21,200
28 21,600
28 21,600
28 24,200
28 24.200
28 24,600
[T 28 20.400
28 19,800
28 21,800
28 23,800
28 23.800
28 25,800
28 26,500
JL2214 28 25,800
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HAMIE | BEAMR EEE | EEH | EEH | EEH | #5H | @84 | 2855 | @88
KR (=578 KR (5 | JL2241 | 288 ] 800 7.300
[JL2243 | 28 800
L2247 28 .800
L2251 | 28 300
HBR | JL2240 28 .800
[JL2244 | 28 800
L2246 28 800
L2250 | 28 800
KR (FF=K% | KBx () 36 | _JL2361 | 28 300
[JL2365 | 28 300
L2367 28 900
K% | JL2362 | 28 800
28 ,300
28 100
KR () =R PGS E I 28 .400
J 28 800
L 28 400
J 28 400
REE [ JL 28 500
J 28 500
[ L 28 500
JL 28 500
KR (1) =feR KB (55 5L 28 .600
L 28 100
[ ol 28 — 100
J 28 45 E AT 800
AR | 28 458 B ,300
L 28 — .900
[ JL 28 .900 X
J 28 800 12,
KR () =28 KR (FFH %[ J 28 20.600 | 24
J 28 20,600 [ 24
J 28 .600 [ 24
[JL3925 | 28 .600 [ 22
JL2441 | 28 600 |22,
JL2443 | 28 600 [ 2
B | JL2430 | 28 800 [ 13
JL2432 | 28 800 IRE
JL2434 | 28 800 | 13
JL2438 | 28 .000 IRE
[JL3926 | 28 700 [ 13
JL 28 400 IRE
AR(FFD=ERE | XWR(FFH | JL 28 .800 | 22
JL 28 800 [ 22
JL 286 800 [ 22
[ JL2400 | 28H 7.800 2
JL2411 | 28H 9.700 2
JL2415 | 28H 9.700 2
JL2419 | 28H 20,900 1
BREHE | JL2400 | 28H .800 1
[JL2402 | 28H 800 12,
JL2404 | 28H 800 [ 1a.
[ JL2406 | 28H 800 12,
JL2410 | 28H 800 [ it
Ji2412 | 28H 800 [ 12
JL2414 | 28H 800 [ 12
AEECMO=1BE REECMOA _JL4401 | 28H .000 2.
JL4403 | 28H 000 2
[JLad05 | 28H 000 2
JL4413 | 286 26.000 2
JL4415 | 28H 26.100 2
M3 | JLa400 | 28H 400 1
[JLad02 | 28H 300 1
JL4410 | 28H 800 1
JLadi2 | 28H 300 1
JLa4id | 286 300 1
HIRGETFR)=H& HLIR(FTTFR)H _JL2803 | 28H .000 1
JL2805 | 28H .000
JL2809 | 28H 000
EHE | JL2804 | 28H 100
JL2806 | 28H 100
JL2810 | 28H 7.000
IR EFFR)=LE &% JL2901 | 28H 2.900
JL2903 28H 22,900
JL2905 | 28H 23.200
JL3981 28H ,200
JL2907 | 28H 200
JL2909 28H ,200
LI (37 T2 3]_JL2000 | 28H 800
JL2902 28H 1,800
JL3980 | 28H 1.800
JL2904 28H 22,500
JL2906 | 28H 23.200
JL2910 28H 25,800 23,200 23,200 24,100 23,100
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oy | mom | BE® | BEW | @A | Sa&# | SEW | G6W | EA4 | EAE
RECRE) =R (1 F&)| BR(HE) % 288 ] .700 16.200 25,200
28 700 16.200
28 .900 18.100
28 900 22,600
28 20.300 22,600
28 20300
28 21,200
28 21,600
28 21,200
28 20700
28 20.600
28 20,600
28 7.000
28 7.800
28 7.800
28 600
28 ,600
HLIR (37T F i) H_J 28 -100
28 .300
28 1100
28 .300
28 22300
28 22,300
28 22.900
28 23.500
28 24.800
28 25,000
28 26.000
28 26.000
28 26.000
28 23.900
28 22300
28 1.300
28 1.300
KR (751 =18/ KR (75 % 28 4,600
28 3.000
28 4,500
[EEES 28 1.700
28 2.500
28 2.500
RERCPE)=X®HA |[RRPE)F| J 28 0.400
28 0.400
28 7.100
B 28 0.400
285 0.400
28 1.100
RER(AE)-B) | RRCEE) % 285 5.700 [
28 5.500
285 26300
28 26300
FEIES 288 0.800
28 1.800
285 5.700
28 1.400
FRCRE) =8I RERCRE) % 28H 5.700
28 25.100
285 25.100
S 28H 28.300
285 29.800
28 31.100
ER(AB)HE | ®RCHE) R 288 24,800
28 25.700
285 25.700
28 24.800
HILF 28H 28,000
28 29.000
285 29.000
28 27700
R (PE)-EE | RRCEE)R 288 23.400
28 22.000
285 22.000
B 28 23300
285 26.000
28H 4,900
®R(AE)=-EE |RRCEE)E 288 6.600
28 6,100
285 6.100
28 6,100
2865 4700
28H 5,200
2865 4,200
28H 4,200
LB% 28 4100
28 4,100
285 4100
28 5,100
285 5,100
28 5,100
2865 4100
28 4,100
RRCAE)-HE | R (Rl % 288 9.400
28H 29,600
285 27700
28H 27,200
285 22100
HER 288 22,200
2865 22.200
28H 28,300
285 29,600
28H 27,300
ER(AB)=BL | ®RCIE)E 288 22.300
28 21,800
28 21.800
28 21,800
28 21.800
28 20,600
28 19.500
B 28 21,000
28 21.000
28 21,000
28 21.000
28 21,000
28 21.000
28 21,000
ER(AB)=-5H R (FE) R 28 21.700
28 21,700
28 21700
28 21,700
28 21700
B 28 23,300
28 24100
28 27,900
28 27300
28 28,300
ER@AB)L [ ERCEEE 28 24,600
28 24,600
28 24,600
28 23,600
28 23.600
28 22,600
[EAIIES 28 20.700
28 20.700
28 21700
28 23.600
28 23.600
28 23.600

JAL



MEB8E5 1 BEER(BA13~16BEESH) JAL

BEEAE : 2019/05/23 ~

K/UTA| %£18517B 8/13 8/14 8/15 8/16
4] E b b KR/IMTA| £15517B| £BIMTA| £18947B| £BHTA| £1857B| £B/TA| %£155478
oy | mom | BE® | BEW | @A | Sa&# | SEW | G6W | S84 | EEE

FR(CRE)=X5 HR(PE) R 288 =] 24.700 X ¥ X X [ 19.500
28 25.100
28 25,100
28 25,000
28 25,400
28 24.700
EY 28 24.700
28 25.700
28 26.400
28 26.400
28 27.200
28 26,000
FR(CRE) =R HR(PR)F| J 28 26.300
28 26.300
28 26.300
28 26.300
28 26.300
28 26.300
R 28 25.800
28 25.800
28 26.800
28 28.200
28 29,700
28 28.200
R CRIE)=#EX RRCRE) R J 28 24,900
28 25.900
28 25,400
28 26.300
28 26.300
28 25,500
28 26.000
28 26.000
AR 28 24.700
28 26.400
28 25,700
28 27.200
28 28,200
28 26.400
28 25,400
28 25.800
R CRE) =58 RRCRE) R J 28 25,500
28 25,500
28 26.300
28 26.300
286 26.300
28H 25.700
ECES 286 24,700
28H 26.200
286 26.200
28H 25.800
286 25,800
28H 24.700
ER(PB)=ERE [RRER)R 28H 25,500
28H 26.300
286 26.300
28H 26.300
286 26.300
28H 25.800
286 25.100
28H 25.100
ERE% 286 24,700
28H 26.000
286 25,800
28H 26.000
286 26.800
28H 26.800
286 27,000
28H 25,000
KR () =F&K KB (75 % 28H 28.800
28H 800
286 800
HHER 28H .800
286 800
28H 32,800
KR () =RE KB (75 % 28H 18.800
28H 22,800
286 27.800
BER 28H .700
286 700
28H 400
KR (D) =38 KB (75 % 28H .800
28H 6,800
286 7.300
28H 7.300
HiBRR 28H 5.800
28H 5,800
286 4.800
28H 5,800
KR (FFH) =K% KB (75 % 28H 6.700
28H 8,300
286 2700
K% 28H 4,600
286 8300
28H 8,300
KR () =R KB (75 % 28H 7.300
28H 7,300
286 7.600
28H 200
RER 28H 300
28H 300
28H 400
28 ,500
KR (7 =feA KR () % 28 .900
28 13,600
28 — 13.600
28 45 BRIl 600
AR 28 45 BBl 800
28 f— ,300
28 45 300
28 45 14,000
KR (FFH =515 KR () % 28 45 15.800
28 45 15,900
28 45 20.800
28 45 900
28 45 900
28 45 900
ELES 28 45 900
28 45 900
28 45 100
28 45 21,000
28 45 21,000
28 45 1,000
AR(PFF=ERE | XKR{FH R 28 45 4,400
28 45 5,600
28 45 6.200
28 45 14,800
28 45 13.800
28 45 13,800
28 45 13.800
ERBR 28 .000
28 .200
28 ,700
| JL2406 | 28 .700
L2410 28 ,800
L2412 | 28 800
L2414 28 ,800




MEB8E5 1 BEER(BA13~16BEESH) JAL

BEEAE : 2019/05/23 ~

K@IMTA| 184178 8/13 8/14 8/15 8/16
= m [ O ety A| 5175 | 547 A| Fo1317B| FeAA 17 A| /517 5] ZEAaH(7 A] AATIE
oy | mom | BE® | BEW | @A | Sa&# | SEW | G6W | S84 | EEE
EEROMO-TE  [EEROMD 258 5 700 . , . , 5500
28 .700 A | 1 4.000
28 700
28 .800
28 .000
R 28 .000
28 .400
28 .400
28 .400
28 .400
ARG R TkE U I ) 3 28 500
28 .500
RER 28 500
28 .500
AEGFR-IE | Wa%E 25 23400
28 23.400
28 24,000
28 24.000
28 28,400
28 .300
TR 28 400
28 .400
28 .400
28 22,600
28 23.600
28 23.600




MEB8E5| 1 BER(BA1T~18BEES)

EEEAE 2019/05/23 ~
RPN DR 8/17 8/18
=M s %‘:;7 " %‘:;7 B [ EmHi7A] 3170| £BITA| £BITD
AR | B AR EEHE | EEE | EEE | EES
KR (5 =18/ KB (5 $ [ JL2051 | 288 =] 4,600 | 11
| JL2053 | 28 3.800 11
L2061 | 28 4,800 K
FERES L2050 | 28 1.800 10,
L2058 | 28 800 [ 13
2060 | 28 600 [ 13
RR(HE)-9IE | R CHE) % |_JL 28 300 [ 22
JL 28 800 [ 21
L 28 23,800 [ 21
T2 JL 28 29,600 2
L 28 36,700 3
L 28 .700 [ 32
AR E)-LE | RRCAE)E| J 28 200 12
28 .200 [ 12
28 200 12
28 .200 12
28 200 12
28 .200 12
28 200 12
28 .200 [ 12
LEB% 28 100 13,
28 100 [ 13
28 100 IE
28 600 [ 16,
28 .600 1
28 100 1
28 7.100 1
28 100 1
FERCRE)=LOFE | RRCHE) R 28 .200 1
28 .700 1
28 200 1
28 .200 1
[IM=E 253 28 .000 1
28 20,000
28 20,700
28 20.700
R CRE)=HE R CRIE) % 28 18.800
28 25.700
28 1,400
28 8.700
28 8,700
HES 28 7.900
28 8.100
28 4,000
288 28,300
288 3.700
RRCRE)=B4 RERCRE) % 28H 7.700
288 7.700
288 7.700
288 7.700
288 7.700
B 288 4.400
288 4,400
288 4,000
288 26.400
288 23,600
RR(CRE)=K5 RERCRE) % 28H 18.500
288 20,000
288 20,000
288 19.000
288 19.000
288 19.000
K55 288 28,500
288 29.200
288 29.200
288 29.200
288 29.200
288 29.200
AR CRE) =Ki& RRECRE)# 28H 1.000
288 4.200
288 1.500
288 1.500
288 8.800
288 8,800
IR 288 28,900
288 29,200
288 29,600 27.600
288 33,700 32,700
288 33.700 32.700
288 29,400 26,400
RR(CRE) =R RERCPE) % 28H 18.600
288 20,000
288 21,000
288 21,000
288 20,000
288 19,500
288 20,000
288 19,300
AR 288 28.500
288 29,600
288 29,600
288 29,600
288 29,600
288 29,600
288 29,600
288 28,700
RE(CRR)=215 RERCPE) % 28H 8.800
288 9,000
288 9.000
288 8,800
285 8.800
28 18,300 17,500
B 28 28,500 26.400
28 29,200 27,200
28 29.200 21.200
28 29,200 32,700
28 29.200 32.700
28 200
KR (FFH)=H&F KR () % 28 .300
28 300
28 .300
ERE 28 30,800
28 30,800
28 800
KR (5 =RE KR () % 28 .700
28 700
28 300
EE 28 22,800
28 22.800
28 22,800
KR (FFH=L& KR () % 28 22.200
28 22,200
28 22.200
28 20,700
28 20.700
28 22,700
28 22.700
28 21,600
ez 28 15.800
28 5,800
28 7.800
28 7.800
28 7.800
28 .900
28 .900
28 .900

JAL



MEB8E5| 1 BER(BA1T~18BEES)

EEEAE 2019/05/23 ~
= . - N 8/17 8/18
- . i‘:‘” i‘:; B [ FR17 A| 38| E 7 A T8
AR | A | EAE ERE
KB (FFD =318 KPR (25 5| JL2241 | 288 =] .300 |13
[Jr2243 | 28 600 [ 14
12247 | 28 300 14
L2251 | 28 300 [ 14
A% | JL2240 | 28 600 [ 1.
[JL2244 | 28 800 14
| JL2246 | 28 800 | 13
L2250 | 28 800 |16
KR () =K% KR (251 5| JL2361 | 28 .600 11,
[JL2365 | 28 300 E
12367 | 28 100 [ 11
A5 | JL2362 | 28 700 [0
28 ,300 1
28 .000 1
KR () =R PGS E I 28 ,300 1
J 28 .300 1
T 28 600 12,
J 28 .200 14,4
RIGFH | JL: 28 20.800 15,
J 28 24.800 19.700
N 28 26.200
JL 28 800
KR (1) =feR KB (55 5L 28 800
L 28 300
oL 28 — 300
Ji 28 458 Bif .600
xRz [LJ 28 45 B Bl ,300
L 28 — 900
oL 28 900
J 28 .900
KR () =28 KR (#FH %[ JI 28 600
J 28 .600
Ji 28 .900
| JL3925 28 .900
JL2441 28 .900
JL2443 28 .900
EER | JL2430 | 28 200
JL2432 28 .200
JL2434 28 .400
JL2438 28 .200
[ JL3926 | 28 23,200
JL 28 9.400
AR(FFD=ERE | XWR(FFH | JL 28 1.800
JL 28 1.800
JL 28H 1.800
[JL2409 | 28H 800
JL2411 28H .800
JL2415 28H .800
JL2419 28H .800
BRERE | JL2400 | 28H 800
[ JL2402 | 288 800
JL2404 28H 20.800
[ JL2406 | 288 20,800
JL2410 28H 20.800
JL2412 28H 20.800
JL2414 28H 20.800
AEECMO=1BE REECMOA _JL4401 | 28H 4.500
JL4403 28H 4.500
[JL4405 | 28H 800
JL4413 28H .800
JL4415 28H .600
B | JL4d00 | 28H 300
[ JLa402 | 288 500
JL4410 28H 20.500
JL4412 28H 22.500
JL4414 28H 8.600
IR FR)=FE  FLIR (BT TR H_JL2821 | 28H 5.600
JL2827 28H 5.600
ER JL2822 28H 6.800
JL2828 28H .600
IR BT =318 RH JL2871 | 28H .800
JL2877 28H .800
LI (37 F3%) H_JL2872 28H 400
JL2876 28H 21,800
IR EFFR)=LE ez JL2901 | 28H 21,700
JL2903 28H 19,700
JL2905 28H 20.800
JL3981 28H 20,800
JL2907 28H 23.200 19.800
JL2909 28H 18,400 17,400
LI (37 F 5%) :{_JL2900 28H 19.700 16.400
JL2902 28H 24,700 19,600
JL3980 28H 24.700 21.800
JL2904 28H 24,700 24,600
JL2906 28H 23.400 23.300 24.700 24,600
JL2910 28H 23,400 23,300 24,700 24,600

JAL



[R—/I—%RBHEER(TA1T~24BEED)

EREEAA : 2019/05/23 ~
7/17-24
= B | g iim =5 A
i B 251% %5
HRCHE) =R FHFR)| RR@E %[ _J 000 | 70% |%:15.600. £:16.100. H:12.400
000 | 70% | %:15. :
.600 | 66%
600 | 66%
100 | 62%
100 | 62%
600 | 66%
000 | 67%
.600 | 66%
600 | 66%
.800 | 65%
800 | 65%
600 | 63%
600 | 61%
100 | 62%
900 | 65% ,300. +:13.400, H:15.400
700 | 56% .900
HIREFTFR)H Y 600 | 66% 100, £:15.600
600 | 63% :16.200. EI 14.100
600 | 66% :15.100. H:
500 | 69% 100, 1
000 | 70% [%:13,600, £
500 | 69%
000 | 67%
.600 | 66%
900 | 65%
100 | 65%
100 | 65%
100 | 65%
100 | 65%
000 | 67%
500 | 69%
.000 | 70%
600 | 63%
FRCRE) =44 (%) | RRCEE | _J 100 64%
20200 | 58%
20200 | 58%
20200 | 58% 500, H:19.200
700 | 61%
700 | 65%
200 | 75%
700 | 76%
9.700 80%
8700 82%
17.300 | _64% L H:18.800
17.300 | 64% |+ H:18.800
PR (BRE) 10.400 78% 14.400
8700 82% | H:14.400
9700 80% | H:14.900
0700 | 78% [H
7300 | 64%
4700 | 69%
2700 | 69%
4700 | 69%
100 | 60%
100 | 60%
000 | 65%
000 | 67%
e s D ERCES 400 | 62% 00, £:22.100. H:18.900
400 | 62% 00. £:22.100, H:18.900
000 | 67%
ESTIES .000 | 63% 00. £:18.400, H:20.300
.000 | 63% 00. £:18.400. B:21.300
4400 | 70%
HECRE) =R HERECPE)# 7.500 41%
28100 | 40% |4
22.100 | _53% | oK:21400_%:22.700 £:22.600. 23,900
18500 | 60% |X:19.000. 7K:18.000, £:20.300. +:19.100. H:20.400
FENIES 18500 | 60% | EH:19.000. K:17.500
17.100 | 63% 117800, £:18,000. F:18.600, H:20.900
26500 | 43% |J
16.100 | 65% |
HRCRE) =8I HRCRE) % 16,500 64%
26400 | 43%
17,000 | 63% |£:18,300, £:17,800, H:19.700
FEES 17500 | 62% :18.300, £:19.700
25000 | 46% :26,400
900 | 66% 7.200. H:18.600
RRCRB)=HIE HECRE) R ,200 4 700, %:15,200, £:18,900, B:17.700
.700 3 +17.200, A:16.900. F:19.400, H:17.900
700 3 +17.200, A:16,900. £:19,400, B:17.900
700 1% £:18.200, H:20.000
BILE 17.300 | 62% |:17.800. 7K:16,800, £:19,000. H:17.900
17.000 | 63% | X%:16.800. 7K:16.500, +:17.500. H:18.500
7.000 | 63% |%:16.800, /K:16,500, %:17.800. +:17,500. H:19.400
600 | 66% | Jsk:15.100. %:14.600, £:16.300. H:17.100
RR CRE) =EHfE HECPE) & ,900 63% | A:17.900, £:19,500, +:22.200. H:13,700
200 | 60% |A:17.200, &
20,000 | 47% 21,700,
EES 13.900 | 63% |£:14.700.
13,700 | 64% |£:17.300.
21,900 | 42% 21,100, £:20.100, H:26.600
RRCAB) =Rk HECPE)# 15,600 66% 15,300, 7KA:14,300, £ H:15,100
16.100 | 65% |A:16.600. /K H:15.600, £:16.700. £:17.100
15600 | 66% |H:16.100, %:14.900, 7K: . A:15,100, £:16,300
15600 | 66% |A4:16.100. K- . A:15.100, +:16.000
600 | 66% | X:14,700. ]
600 | 66% | K:14.700, JK:1
RER 600 | 68% |JH:15500, %:15,600. £:16,000
100 | 69% |XH:15000, &
14100 | 69% | X:15.100, 13,200, 14,800, H-15600
16.600 | 64% |7K:15000. AF:16.100, £:17.200. H:18.000
7100 | 63% 6000, %:17.600. £:16.100. H:18,000
3.600 | 70% :17.000
R CAB)=fEX HRCRE) % 2,200 72% :13,200, B:12,700
4100 | 68% :14.600
14,900 | 66% E: . H:15.100
15900 | 64% | :15.400, £ 1:16.500. H:16.100
14900 | 66% [% 15,100
15.100 | 65% :14.400
15,600 | 64% 15,100, A:14,600
15.100 | 65% 4.900, 15,600, % H:17.100
BERF 15,100 65% | A:15, 115,500, £:17.100
16.600 | 62% 5600, /KA H:16.100
15,100 | 65% | X:15.600
15600 | 64% |7K:14.000. A E:14.600, £:15.100
16.100 | 63% | X H:16,600. 7K:15.000, A& £:15.600
15.900 | 64% X:16.100. %:17.000. H:17.100
15900 | 64% |AX:16.100. £H:17.100
16.100 | 63% | ksk+:15600
HECRB)=E& B CRE) % 14,400 67% | F:14,600, £:14,900, +:15.100
14600 | 67% |/KH:14.400. A%:15.100. £:15.600
15,100 | 65% | A:14,900, 7K:14.000
14.900 | 66% 5500, % H:16.000. £:15.100
14600 | 67% 5,500, 7K:14.400, %:15.600, £:15,100, H:16.500
15.100 | 65% 5600, X:14.900. 7K:14.400. £:16.000, H:16.500
] 15500 | 64% |/KA:14,900. £:16,500, H:14.400
14400 | 67% |H:13.700. %:15.100, +:16.000. H:14.600
400 7% | K& £:14,900, B:15,
.400 7% 5600, :16.000, %:15500. £:14.900, H:16.100
400 7% 4,900, £:15.500. H:16.100
200 | 72% |H#&A:13300
KR (5 =% 5l KB (53 % 20,900 60% [ +:22.400
AT 17.400 | 67% |+:17.900. H:20.800

JAL



TR—N\—%FGIHEER(TA2~31BEEN)

EREEAA : 2019/05/23 ~
7/25-31
e B | g iim = S g
i B 251% %5
BERCAE) =R G Fm)| RERCEE) R |_J .000 70% |&:
000 | 70% [k
600 | 66% |sk:
600 | 66% |k
100 | 62% |k
100 | 62% |k 00
600 | 66% 00, +:18.200, H:15.100
000 | 67% 400
.600 | 66%
600 | 66%
.800 | 65%
800 | 65%
600 | 63%
600 | 61%
100 | 62%
900 | 65%
700 | 56%
FLIR (T FiR) 59 ,600 66%
600 | 63%
600 | 66%
500 | 69%
000 | 70%
500 | 69%
000 | 67%
.600 | 66%
900 | 65%
100 | 65%
100 | 65%
100 | 65%
100 | 65%
000 | 67%
500 | 69%
.000 | 70%
600 | 63%
FRCRE) =44 (%) | RRCEE | _J 100 64%
20.200 | 58%
20.200 | 58%
20.200 | 58% 500, H:19.200
700 | 61%
700 | 65%
200 | 75%
700 | 76%
9.700 80%
8,700 82%
17.300 | 64% |7K:19.300. T H:18.800
17.300 | 64% 19,300, + H:18.800
PR (BRE) 10.400 78% 14.400
8.700 82% | H:14.400
9.700 80% | H:14.900
0700 | 78% |H:14.900
7.300 | _64% .300. £ H:18.800
4700 | 69% 900
4700 | 69% 900
4700 | 69% 900
100 | 60% 100
100 | 60% 100
.000
.000
KR (5 =R (B F )| KB (7 % 20.600 4,900, H:15.900
20,600 4,900, B:15.900
20.600
5.300 : :15.900, H:16.600
4.600 JK:16.
3600 | 72% K15, 14,600, £:15,300, H:16.300
AL 0% (37 F5%) $4_JL2000 | 1.600 76% | sk:14.
4100 | 71% [K:16. :15.600
4600 | 70% |4 :16.100
3600 | 72% 4 :24.100
1.800 | 55% [Y :20.800. H:24.800
1.800 | 55% 0,800, H:24.800
KB (BATE) =#LI% (37 F k)| Kok (BIFE) 1.100 57% 2,700, H:17.300
2600 | 74%
11,600 76%
+LIR (37 T 8 5 11.600 | 76%
12,600 74%
20.400 | 58%
HEROAB)=%EH | BR(PE) R 9,800 59% £:21,600, H:18,900
9800 | 50% 1.600. H:18.900
5800 | 67% 7.300
ES e 8100 | 63% 8400, H:20.300
8100 | 63% 8,400, A:21,300
4600 | 70% 6.000
RRCRE)=H8JIl R (FE) % 27500 | 41% >
28100 | 40% |H:32.600, £1:31.000
2,100 53% 25,200, 7K:25,700, £:22,700, :22,600, H:23,900
7500 | 62% 1.600. %:20.300, £:18.100. H:19.900
TBIIZE 1,500 | 54% :19.100, +:20,600
7100 | 63% k:21.200. %:17.500, £:18.400. H:20.400
26,500 | 43% 0,600, H:29,400
16.000 | 66% |H:16.300. . %:16.100, £:16.400. H:19.500
R CRE) =8I HECPE)# 16,700 6: 7K:19,800, % 9700, H:17.500
26.400 | 43%
16,700 | 6 7,000, % £:17,800, H:19.200
EEES 17.000 | 6 7.500. % H:17.800, £:19.200
26,400 43 7K:25.900
15900 | 66 £:17.200. H:18.600
HECRB)=HIE HECPE)# 16.700 63%
17200 | 62%
17,200 62%
18200 | 60%
BN 18,400 59%
17.000 | 63% 8,000, H:19.000
7.000 63% 8,000, H:19,400
5600 | 66%
R CRE)=EE HRCRE) % 3,700 64%
7.300 | 54%
20,000 47% :22,300
HER 13.900 | 63% 4700, £:13.700
13700 | 64% |/ 5,000, H:20,000
21,900 | 42% [J 6.600
RRCAB)=RK HRCRE) % 15,600 66% |2 5,100
16600 | 64% |2 6.700, £:17.100. H:15.600
15,600 66% . K:15,100, +:16.300
15600 | 66% . A:15.100, +:16.000
,600 66% p.
600 | 66% [
A% 600 | 68% |/ 600, H:15,000
100 | 69% | 100. H:14.500
100 | 69% [k N 00, H:15.600
600 | 64% | K:16.500, 7K:17.500, A:16.300. %:17.200, +:16.100. H:18.000
17,100 63% :17,500., 7K:18,500, 17,600, +:16,100, H:18.000
13.600 | 70% |X:13.400. 7k:13.900. £ H:17.000

JAL



[R—/—%BIBER(TA25~31BERS) AL
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7/25-31
FH9 A5
= B8 | mamR [ TE W o
1L "
ECAC:E HRCAEE [ J 55 200 72% | 7k:
55 ,100 68% | JK:
55 900 | 66% [% 500, H:15.100
55 ,900 64% X 500, H:16.100
55 900 | 66% 500, H:15.100
55 100 65% 600
55 600 | 64% .900. A:14.600. £:15.100
55 100 61% 900, &:15,600, +:15.100
AR 55 00 | 65% ik £:17.100
55 100 63% |A 6.500, € +:16.600
55 100 | 65% :15.600
55 ,600 7% X N 5,100
55 600 4 %:16.100, 7K:15.900. H:16.600
55 ,900 4% 6,100, :15,400, £:17.000, H:17,100
55 .900 4 6100 X:15.400, & H:17.100
55 100 | 63% | JF:15600
KR (B =%B8 | KB (R % 55 20.900 60% [7k:27.500. 1:22.400
i Bl FE 55 17.400 67% |7K:18.400, £:17.900. H:20.800




[R——5%1G1IEER(BA2~8HEES)

EREEAA : 2019/05/23 ~
8/2-8
P — A——%5
ar |Gl %
RIR (P =ALIE (T )| AR (B % 20700 | 58% |X:20600. 222,400, £:24.900
[ 20700 | 58% 20,600, %:22,400, +:24.900
[ 20700 | 58% 3.300, £:21.400. £:24.200
[ .700 | 60% :20.700, 7:22.200
[ 800 | 66% 3:18.500
800 | 66% 5,800, £ H:18.500
4L (BT ) 3_J 1900 | 69% |A:11.900
[ 300 | 67% :18.000
[ 800 | 66% :18.500
[ 800 | 68% 7500, H:29.400
[ 300 | 50% 1.800. %:20.700, +:20.800. H:24.800
300 | 50% |H:21800, £:20,700, £:20,800. H:24.800
KB (BA7E) =#LIR (3 F k)| Kk (BIFE) 5 20.200 59%
[ 4,800 | 70% |[EH:16.500
Ji 3.800 | 72% |sKA:14.800. £ H:15500
FLIR TR 3 _JL2 4900 | 69% |A:11.900
5400 | 68% |JK:14.900, A:12.900
20200 | 59% |:18.900. H:21.700
BR(HE)-KEs | RRCHE R | J 22.300 | 54% | K:22.900. 7K:23.400. :31.000. E:24.100. H:22.600
22.300 | 54% 400, :31,000. F:24.100, H:21.600
20900 | 57% 00
ESTIES 20600 | 58% 00. 7:19.100, H:22.400
21,600 | 55% .300. 7k:20.200. :19.700, H:22.400
17.600 | 64% N 00. 7K:18,600, :19.700. +:20.200. H:20.300
R CRE) =)l ERCRE)FE| J 32.700 30%
33400 | 28%
30200 | 35% K:27.300. %:28.000, +:28.500
J 25200 | 46% K:25.300.
FEIIES 22,000 3% | dok:
23,000 1% | Rok:22! .
25,300 6% | :26.000, :26. :28.000
J 20.100 :20,800, %:20,600, F:21.400, H:23,000
HRCRE) =8I ERCRE)FE| J 32.800 29% |£+ H:33.700
J 27.900 39% _[7K:32,000, 7:32.800, # +:28.500
J 22.900 | 50% | HX:21.700. 7K:21.900. A:22.400
FIEES J 21,800 | 53% [7K:22.000, £:22.100. + H:22.900
J 27.900 | 39% |/kA:32.200
J 22100 | 52% |H:21.400, 7K:23.300. 7:20.700. £:21,600. H:22.900
R (FE)=HK HERCAE) [ J 25000 | 45% | H:22.200, X:21.600. A:24.700
J 25000 | 45% |/kK:25200
J 25000 | 45% |/kA:25.200
J 25000 | 45%
ETR3 J 20,800
J .000
JL57 .000
JL57 .300
R CRE) =EiE BN (CPIE) % |_JL585 .400
JL587 .400
JL589 .400
BfE% | _JL584 | .000
JL586 9.800
JL588 4,400 | 35% |7k:28.700. £:28.000, H:26.600
RR(PE)=MW Hm () % |_JL 2.800 | 65% | H2:12.500. k:13.000. A:11.800
JL: 1.900 | 67% |7K:13500, A:11.800
JL: 900 | 67% |7K:12.800. A:11.800
JL: 500 | 65% 13.900. :11.800, H:13.700
JL: 200 | 66% 800
IS JL: 700 | 68% 00. + H:11,200
JL: 700 | 68% 00
JL: 900 | 67%
JL: 600 | 65% :14.300
JL: 000 | 64% 4,200, H:15.300
ER(CAR)=LES BRCRE) % |_JL25 .300 67% |7} :12.700
JL255 200 | 67% |4
JL257 500 | 69% |4
JL259 200 | 67% |k
JL261 600 | 66% |k:
JL263 300 | 67% |k
JL265 200 ok
JL267 300 h K
L% JL252 200 7K:12.600.
JL254 100 | 65% |A:11.300, H:12.600
JL256 200 | 67% |5K:13,100, A:11,300, H:11.500
JL258 900 | 65% | A k:12.200, A:11.300
JL260 ,300 67% [7K:13,100, A:11,300
JL262 400 | 69% |7K:12.300, A:11.300
JL264 600 | 66% |A:11.300
JL266 300 | 67% |7K:13.100, A:11.300
RRCHE) =5 o GHE) 3 |_JL453 13500 | 62% |7k:18.400, : :12.700, H:12.400
JL455 13500 | 62% |s: 2700, H:12.400
JL457 13500 | 62% |
JL459 13500 | 62% |4
JL461 13500 | 62% |
JL463 13500 | 62% |
JL465 13500 | 62% |-
e JL452 13700 | 62% |4
JL454 13400 | 62% |
JL456 13.400 | 62% |4
JL458 13400 | 62% |4
JL460 13400 | 62% |
JL462 13,300 | 63% | E
JL464 13.300 | 63% |7k:18.400. % t H:12.100
R (PE) Bk Fm CHE) % |_JL4T5 9,900 72% | £H:11.700
JLa77 16.200 | 54% |7K:18.400. A& H:15.500, £ +:16.700
JL479 11,100 | 69% |+:13,800, H:13,300
JL481 13.000 | 63% |7K:17.100. A:15.500, £ +:14.300. H:14.900
JL483 13,000 | 63% |sK:17.100, 7:15,500, £ 114,300, H:14.900
JL485 15500 | 56% |7K:19.900. %:16.400, +:13.300. H:16.800
JL487 16,500 | 54% |7K:19.900, A:15,500, £:17.100. £:14,300, H:17.400
I JLa74 13.100 | 63% |+:15400. H:13.600
JL476 15700 | 56% |7K:17.100, 7:13,800, £ +:16.700. H:14,300
JL478 10.600 | 70% |+:13.400. H:11.400
JL480 10600 | 70% |+:13.800. H:14.400
JL482 13.300 | 63% |7K:17.700. A:13.800. £:13.600. H:15.000
JL4g4 17100 | 52% |k H:17.200. k21,300, A:13,800. +:15.500
JL486 16.200 | 54% |7K:20.900. #:13.800, £ H:17.100. £:14.500
HECRB) =B R CRIE) 5 | JLo1 16.900 56% | K.
JL493 17.900 | 52% |
JL495 12,300 | 67% |4
JL497 14100 | 63% |-
JL499 18500 | 51% |k
EEEES JL490 11600 | 69% |
JL492 15,100 | 60% _|7K:21.200.
JL494 12.300 | 67% |+ H:15.800
JL496 18200 | 52% | 117,700, H:20.800
JL498 18500 | 51% 3800, %:17.600. H:19.500
R CRE) =#l m CRIE) % [_JL43i 16.900 56% 7.800
JL433 19.100 | 50% :16.500
JL435 600 | 64% £:16,000, H:17.800
JL437 800 | 69%
JL439 500 | 52% 6.700
JL443 100 | 50% | 116,500, +:18.500
PIES JL430 17,000 | 56% | :14.600
JL432 17.000 | 56% | :14.600
JL434 10500 | 73% |+:18,000, H:17.
JL436 18.600 | 51% |7K:20.100. A:13.100, £ H:16.100
JL438 9100 | 50% |::19.200, 7K:25,100. %:13.100, £:18,300
JL440 9100 | 50% |:K:19.200, 7 3100, £:18.300
KB (A =% 51 KB (F#53) % 7.500 47% :27,900, :28,300
e lEd 3.000 | 56% | A:29.600.
KR (B =F& KBR (R FH) 5 26,600 39% [7k:17.000,
28,800 7K:18.000,
24,400 2 :17.000, K:1
EHE | 20.200 h_[%:17.000
24,600 % |£:17.000. £:19.600
27100 | 38 +17.100

JAL



[R——5%1G1IEER(BA2~8HEES)

EREEAA : 2019/05/23 ~
8/2-8
FH A——%5
P B8 | mamR [ TE W
"R |z il
KIR (59) =3 @ KR () % 55 8400 | 53% K:15.500. JIK:13.400. £:18.000
55 7.700 55% H:14,800, 7k:12.700
55 300 | 54% J7K:13.300. A:15.400
®ER 55 600 | 66% 17.300
55 000 | 67% 7.300
55 600 | 66% 7.300
KR (FFH=L& KB (75 % 55 400 66%
55 100 | 65%
55 200 | 72%
55 400 | 69%
55 100 | 70%
55 100 | 70%
55 900 | 71%
55 .900 | 71%
[=ES 55 100 67%
55 800 | 60%
55 100 7
55 300 1400,
55 .700 400,
55 .700
55 .200 2
55 200 | 72% |B:I1,
B EE () =FLIR (37 T3 2 & 2 () 34 55 800 | 46% | 4:24.600. /K H:22.500, A:28.900. £:27.400
55 800 | 62% |7K:16.000, A:17.100, +:18.600. H:17.500
55 4500 | 67% |A:16.600. +:17.700, H:17.100
55 9700
55 8700
FLIR (%) 59 55 9.600
55 14.500
55 20,400 4% _|7K:22,000. :22.000, £ H:20.700. +:17.900
55 20.400 4% _|/kA:22.000. % H:20.700. £:17.900
55 23.100 48% |7k H:26.800, 7:24.100. £:20,700. 1:21.800
55 14500 | 67% |A:13600. +:16.200, H:22.300

JAL



TR—N\—%FGIHEER(BA19~25BEFEN)

EREEAA : 2019/05/23 ~
8/19-25
e B | g iim = S g
i B 251% %5
RRCHE) =ML RRCAE) % 100 | 69% 800, %:11.200. £:12.900, B:11.900
.600 68% 212,900, H:12.400
100 | 69% :12.900
,200 64% 212,400, H:12,700
900 | 62% 400, £:11.000. H:11.600
[T 700 70%
800 | 62%
.100 69%
4000 | 61%
4,500 60%
RR(CAB)=E8 ERCRE)FE| J .300 69% 1.100
800 | 57% 115,400, £ B:11.900
300 | 59%
200 59% 3:12,100
300 | 69% :12.900, B:12.800
.300 69% :12.900. H:12.800
900 | 62% :12.100
4400 61% 3:12,500
&% 2.700 66% .
4,300 1% +13.900, +:12.600. H:12.400
100 7
200 7% 2,900, H:13,600
500 4 3:12.600
,500 4% 112,000
300 | 59 2900, H:13.200
300 | 59% 3:12.600
R (FE)-E8 HERCPAEFE [ J .600 62%
1900 | 64%
500 | 68%
500 | 68%
.900
900
.900
S 400 ,600, £ H:11,500
100 | 66% |L£H:11.
100 | 66% 700
600 | 65% 300
600 | 65% :12.100
900 | 64% 3400, £H:11.700
600 62% 3:11,700
ERCRE) =54 BERCRE) % .100 60%
100 60%
900 | 68%
500 | 64% +14.200
500 | 59% :16.300
T 200 | 68%
200 | 65%
900 | 68%
4.000 | 63%
5500 | 59%
R CRE)=#l RERPE) % 3.500 65%
6400 | 57%
200 | 60%
700 | 69%
100 | 58%
600 | 57%
HLLZE 900 |61
900 | 61%
500 | 73
200 | 66%
000 | 58%
000 | 58%
KB (D =%iB8 [ KB (RS 20.900 60%
2 RIS 600 | 58% 3,300
(B & B (FP &) =ALIR (3 F |8 5 2 (R #) .200 57% :21.400. H:17.600
400 | 72% 4200
400 | 72% 4200
8.800 80%
7.800 82%
FLIR (BT %) $§_JL3100 | 8.800 80%
J 2000 | 73% K:12.400. £:11.000. B:12.600
4900 | 66% 19.400. :15.400, £:13.700. H:15.700
4,900 66% 19,400, A:15,400, £:13,700, H:15,700
9200 | 57% 24,900, £:19.800. +:17.000. H:21.300
JL3118 5,300 65% 24,000, + H:18.300

JAL



TR—N\—%GIEEXR(BA26~31BEFEN)

EREEAA : 2019/05/23 ~
8/26-31
= B | g iim Ao
i B %5
HRCRE) =R RERCRE) % .900
400
.400
,800
.400
[EITES 400
100
400
300
,300
RR(CAB)=E8 ERCRE)FE| J .800
400
.400
,500
1.300
1.300 K )
3.900 | 62% 300, £:12.100
4,400 61% [£:14.900. :12.600
&% 400 66% .300. £:12.800
900 62% | A
100 | 67% |47
800 | 71%
900 | 65%
900 | 65%
800 | 60%
300 | 59% |4
R (FE)-E8 HERCPAEFE [ J .600 62%
900 | 64% |4
500 | 68%
500 | 68% |4
.900
900 E
.900
EER ,400 ki
100 |66
100 | 66% |4
300 | 65%
100 | 66% |4
900 | 64%
600 62% |
ERCRE) =54 BERCRE) % .100 60%
100 60% |4
900 | 68%
500 | 64% |&:
500 | 59% 15.
T 200 | 68% 1.
200 | 65% 12.
900 | 68% 11,
2,000 | 63%
5500 | 59%
R CRE)=#l RERPE) % 3.100 66%
6400 | 57% |2
200 | 60% |&:
700 | 69% |+
100 1 .800. £:12.700
600 1 600
PATES .900 14. .200
.900 1 :12.200
500 14.
.200 12,700, £:12.900
.000 15300, +:11.400
.000 15300, +:11.400
KB (D =%iB8 [ KB (RS 20.700
2 5 500 | 59% | A K:21.600
B E (&) =#LIE (T FR[BEE (P D) .200 24,300, £:22.900
400 11,600, +:14.600
400 | 72% |%:11.600, £:12.700
8.800 80%
7.800 82%
FLIR (BT %) $§_JL3100 | 8.800 80%
Ji 2000 | 73% |A:12.400. %:13.300. £:11.700
4900 | 66% |A:15.400, %:16.600.
4,900 | 66% 00,
9200 | 57% |A:19.800. %:21.300.
JL3118 5,300 65% |£:14.400, F:16,500

JAL



EREEAA : 2019/05/23 ~

8/1
(=45 ;23 A—1\—5%1§

B

KR (D =4LIR 3 Fik)| KR (57D & 20.700
[ J 20,700

[J 20.600

[J 20,600

[J 800

.800

FLOR (BT F %) 34_J .900

.300

800

.800

300

300

KB (BA7E) =#LIR (3 F k)| Kk (BIFE) 5 20.200
,800

800

LR (37 F 5% 5 .900

.400

900

BRCRE)=k&5 ERCRE)FE| J 26.000
26.000

20.300

EST RIS 100

.100

100

R CRE) =R ERCRE)FE| J .200
3.600

27.300

22.300

JCIIES 22.300

23,000

31,700

20.300

B CRE) =8I RRECRE)# 22.800
32.800

20.200

ElEES .800

200

100

HERCRE)=%HL ERCRE) % 700
25.200

25.200

23,500

HILFE .900

600

JL57 .600

JL57 .900

HR CHE) =8 R CFIE) 5 [_JL585 20.200
JL587 21,200

JL589 27.700

WER JL584 18.100

JL586 20.200

JL588 28,000

R CRE)=FEW HR(HE) F [ JL231 3.500
JL233 2.800

JL237 2.800

JL239 4400

JL241 200

EIES JL232 500

JL234 .900

JL 800

JL 400

JL 400

RECABR) =L R CHAE) & |_JL25 3.000
JL255 7.200

JL257 7.300

JL259 7.600

JL261 000

JL263 000

JL265 .900

JL267 400

L% JL252 400

JL254 200

JL256 3,000

JL258 3.000

JL260 5,700

JL262 5.700

JL264 6,600

JL266 7.100

AR (B =%@w8 | KBR(BFH % | JL2101 7,500
Z@HRE | JL2102 8.400

K (D =H& KBR (75 % |_JL2151 1,600
JL2153 28,000

JL2157 4,400

BHE JL2152 7.000

JL2154 000

JL2158 100

KR (5 =FE KRB (FRFH % | JL2171 400
JL2173 700

JL2179 ,300

HER JL2172 600

JL2174 ,000

JL2176 600

KR (D =L& KB (75 % |_JL2201 400
JL2203 100

JL2205 ,200

JL2207 1400

JL2209 100

JL2211 100

JL2213 ,900

JL2215 .900

e JL2200 ,100

JL2202 800

JL2204 ,100

JL2206 300

JL2208 700

JL2210 700

JL2212 ,200

JL2214 .200

B 2 2 (P ER) =#LAR (31 F 8|8 & 2 (&) $_JL3103 22,500
JL3105 14.800

JL3107 14,500

JL3115 9700

JL3117 8,700

4LIR (37 F#%) $_JL3100 9,600

JL3106 14,500

JL3110 22,000

JL3114 21,700

JL3116 20.700

JL3118 10,300

TR—N—%FIHEEXRBATBERED)

JAL



EREAR

2019/05/23 ~

[R—N—%FGIHEEXR(BAI~I16BEBES)

=40]

8/9

8/10

8/11

8/13 8/14

8/15

2= i—%18

2=

2—ri— %1

e

2—ri— %1

ERE

ERE

ERE

ERE

RECRE) =R (FFi)

RRPE)R | J

22.900

31.700

.700

,900

.600

33.700

,700

33.700

700

,600

33.700

,700

.600

33.700

700

,600

33.700

.600

33.700

,600

33.700

18.800

22.600

33.700

22,600

31.700

22.600

22,600

33.700

33.700

33.700

33.700

0.200

ALIR (T 5_J

6.700

7.700

7.700

7.600

7.300

7.900

,700

.400

400

.800

.800

.800

.400

.200

.600

.800

700

KR (5 =18

KB (5 %

.100

600

.900

[EEES

.100

.300

600

RRERCPE)=XiH5]

RRERCPE)H |_JL565 |

.700

700

1700

ESCEIES

4.200

4.200

7.600

HECRE) =R

RERPE) %

.700

.700

.700

.700

JENIES

7.000

26.800

2.700

7.300

R CRE) =8I

RERPE) %

4.700

4.700

1.700

S

26.800

25.600

26.300

HECRB)=HIE

RERPE) %

.700

.700

.700

700

26,000

25.600

25.600

25.300

R CRE) =EfE

RERPE) %

29.700

29.700

26.700

S

21.200

3,200

3.200

RRCAB)=ES

HRCAE) %

4,800

7.200

7,500

8.300

3,700

6.000

7,900

6.600

%S

2,500

2.500

2,500

2.500

2,500

12500 | 1

2.500

2,600

12,500

12,500

7.000

RRCAB)=HE

HRCAE) %

26,400

29.400

28,700

23.100

12500 | 1
28400 |

29,400

16.800

16,800

16.800

20,800

25.800

RRCAB)=-EE

RRCAB) %

16,600

20.700

20,100

19.300

17,900

19.900

20,400

[EEES

13.400

13,400

13.500

13,500

13.500

13,400

13.400

R CAB) ==

RRCAB) %

18,000

22.500

20,700

21.500

21,500

22.300

23,300

kT
B
£

17.700

17,700

17.200

19,200

19.100

21,200

20.900

JAL



R—N—5%FIEER(BAI~16HEES) A

EW#EMAA : 2019/05/23 ~

8/9 8/10 8/11 8/12 8/13 8/14 8/15
=40} A—i—%M8 | R—1—%/ | A1 —%8 | 2~ —%B | 2~ —%@ | 2—1—%B | 2—1—%8
B EEE e e
HR(RE)=-F4 HRCRE) % 28600 | 28500 26.500 |_17.600
30,600 | 28,600 28,100 17.600
27.700 26.700 | 15500
26,700 23,000
7.500
EES 6.900
7.700
7.900
100
700
R CRE) =t RERCRE) % .600
26,700
26,800
L 24,100
JL 26.400
JL 7.000
PAES JL .900
JL432 900
JL434 .900
| JL436 100
JL438 .900
JL440 .700
KR () =H&F RIR (F51) % | JL2151 -200
| JL2153 | .100
JL2157 7.100
EHR JL2152 6.200
JL2154 3.500
JL2158 23,500
RBR (53 =T E KIR (5 % | JL217 20.900
JL217 20,900
JL217 20.900
ER JL217. .600
JL217 600
JL217 ,000
RIR (=K% KIR (£53) % |_JL2361 .800
| JL2365 800
JL2367 800
RH%E | JL2362 ,000
JL2364 .700
JL2366 ,900
KR () =Rk KIR (5 % | JL237 .900
| JL237 .900
JL237 .000
JL237 .900
W% JL237 400
JL2374 .400
JL2376 500
JL2378 .400
KR (D) =EH RIR (£253) % |_JL2431 5.600
JL2433 7.500
JL2437 7.100
JL3925 800
JL: 800
JL 800
e JL: .000
JL .100
JL: .900
JL .900
JL3926 500
JL2442 .400
AR (R =-ERS RIR (£253) % |_JL2401 .500
JL2403 600
JL2407 600
JL2409 500
JL2411 7.100
JL2415 100
JL2419 .700
ERS% | JL2400 | .400
| L2402 .400
JL2404 700
| L2406 | 700
JL2410 600
JL2412 4,300
JL2414 4.300
B & (P ER) =#LAR (31 T |8 & 2 (&) $_JL3103 29,400
JL3105 28,500
JL3107 23,500
JL3115 22.300
JL3117 21,300
FLI% (BT 2%) $§_JL3100 8.800
JL3106 1,000
JL3110 2.000
JL3114 2,000
JL3116 2.000
JL3118 7,500
2HECMO=RE |2 E MO H] JL4401 8.100
HMEFTFR) =B [FLIRFTFHR) F_JL2821 5,300
JL2827 6.400
BER JL2822 6,400
JL2828 4.400
HIREFFR)=LE es JL2901 7.500
JL2903 9.300
JL2905 9300 | 23,300
JL3981 9300 | 23.300
JL2907 7500 | 23,300
JL2909 7500 | 25.600
FLIR (3 T 2%) 3_JL2900 8,600 0
JL2902 8.600
JL3980 8,600 X
JL2904 8.600 ) . | 2
JL2906 8,600 X ) . X
JL2910 20.700 1




EREEAA : 2019/05/23 ~
8/17
(=45 ;23 A—1\—5%1§
B
KR (5 =12 KB (RFH % | J .100
2053 100
L2061 .900
% [ JL2050 .600
[ JL2058 500
2060 200
B CRE) =8I RRERCPE) & | JL 22.100
L! 1,600
JL 1,600
ElEE L 7.400
JL 700
L! ,700
RRCAB)=WOFH | RERCAB)H | J .900
700
.900
J ,900
J 000
[ J 800
J 20,000
J ,500
AR () =HF&F RIR (F51) % | JL2151 .600
700
J 600
HHER JL2152 28,700
JL2154 28.700
JL2158 28,700
KR () =Rk KIR (53 % | JL2371 2.400
| JL2373 2400
JL2375 2.200
JL2377 4,000
W% JL237 20,600
[ JL2374 | 24,600
JL237
JL2378 |
KR () =Bk KB () % | JL2431
| JL2433
JL2437
[JL3925
JL2441
JL2443
S JL2430
[ JL2432 |
JL2434
JL2438
JL3926
JL2442
AR (R =-ERS RIR (£253) % |_JL2401
JL2403
JL2407
| JL2409
JL2411
JL2415
JL2419
BRBFE | JL2400 |
| JL2402 |
JL2404
| JL2406 |
JL2410
JL2412
JL2414
(B (P ah) =ALIR (BT 5 2 (P ) 3 _JL3103
JL3105
JL3107
JL3115
JL3117
FLIR (BT %) $_JL3100 |
| JL3106 |
JL3114
JL3116
JL3118
IR EFFR)=LE (= JL2901
JL2903
JL2905
JL3981
JL2907
JL2909
LR (37 F %) _JL2900
JL2902
JL3980
JL2904
JL2906
JL2910

[R—N\—%FGIHEEXRBA1T~18BEFEN)

JAL



[R——5%BEER(OA2~12BEBFED)

EREEAA : 2019/05/23 ~
9/2-12
P B | g iam FEE] AR
7 EBRE su; 4 hE
RA CRE) =MW R (AE) 5 55 700 | 68%
55 ,400 69% |&+ H:10.700
55 400 | 69% [T H:10.700
55 ,100 64%
55 400 | 57% | E:11.000. H:12.600
[EITES 55 400 1,400
55 100 1.500. :12.100. H:11,000
55 ,400 H:10.700
55 300 :13.900, £ H:12.100
55 ,200 58% 114,400, + 0:12,100
RRCHE)=LS RRCAE) % [_J 55 800 | 69% [+:11.100
55 400 55% |A:15.600, £+ H:12.500
55 400 | 55% |A:15.600.  H:12.500
55 .500 58% | 12,500
55 100 | 68% |%:11.300. £ H:12.700
55 .100 68% |#:11.300, £ H:12.700
55 600 | 6% [%:14.000. £H:11.
55 .900 | 60% | A:14.400, &:14,
TRES 55 100 | 65% [ H:11.000
55 600 | 61% |%:13.800. £ H:11,00
55 800 | 69% [ H:12.100
55 800 | 69% |® L H:12.100
55 900 | 63% 100, & H:12,500
55 .900 63% ,100, + H:12,500
55 600 | 58% 100, £ H:10.700
55 ,000 57% .600, + H:12.500
RRCHE) =5 R CAE)$ [_J 55 100 | 66% .00, H:9.900
55 .100 66% 900, H:9.900
55 9.900 70%
55 9.900 70% 1,100, £:10.000
55 100 | 66% 10,000
55 .100 66% | 10.000
55 100 | 66% |%:11.600. £ H:10.000
S 55 .100 66% | +:10,600, H:10.500
55 200 | 69%
55 .200 | 69%
55 900 | 67% [&H1.100
55 900 67% |& .100
55 100 | _66% |+ H:10.600
55 .100 66% . ,600
RRCHE) =B RRCAE) % 55 300 | 68% |%:12.200. £:12.400. H:0.800
55 .300 65% :13.200, +:13.400, H:10,800
55 400 _|_70% &£ H:10.600
55 900 | 63% | #:13.500, +:10.800. H:13,000
558 14800 | 58% 700, £:10.800. H:14.900
T 55 11,600 | 67% 300
558 11.600 | 67% 100
55 10400 | 70% 900, & H:12.700
558 13300 | 62% 900, F:12.100. H:13.600
55 14800 | 58% |%:15.300, £:10.800. H:15.000
R CHE) =1 TR CFIE) 5 |_JL431_| 558 11.000 | 69% 13.400. H:11.900
JL433 | 55H 15000 | 58% |%:15.500, +:14,800. H:12.400
JL 558 13300 | 63%
JL 55 10700 | 70% 1400, H:12.
JL 558 14100 | 61% 500, F:12.600. H:15.000
JL 55 15200 | 58% 100, +:12.600. H:15,600
PATES JL 558 13600 | 62% 100, £:11.000. B:10.400
JL 55 13200 | 63% .000, H:10.400
JL 558 000 | 72% 13.300
JL 55 600 | 68% |2 +12.600. H:12.900
JL438 | 55H 4200 | 60% |2 400
JLa40 | 55H 4200 | 60% |&: 1400

JAL



[R—N—%FGIHEEROA1T~0BEEN)

EREEAA : 2019/05/23 ~
9/17-19.9/24-30
FH A—/\—%1§
P B2 | wAwR [ TEED
EE | sz fa
RA CRE) =MW R (AE) 5 55 700 | 68% |H:10.400
55 ,400 69% |&+ H:10.700
55 400 | 69% [T H:10.700
55 ,100
55 400 1,000, H:12.100
[EITES 55 400 1,400
55 100 1.500. £:11.100. H:11,000
55 400 :9.700, £+ H:10,700
55 300 | 61% [#:13.900. £ H:12.100
55 ,200 58% |#:14,000, £ H:11,100
RRCHE)=LS RRCAE) % [_J 55 800 1,100
55 100 | 56% | A:15.200. %:15,300, T H:11.400
55 100 | 56% [ H:15.200. £:15.300. T H:11.400
55 .500 58% 12,500
55 1.100 | _68% 1,300, T H:12,500
55 1,100 68% 1,300, 1 H:12,500
55 3600 | 61% :11.200
55 9.800 72% 0,000
TRES 55 9.800 72%
55 900 | 60% |H:13600. £:13.800, + H:11.200
55 800 | 69% [ H:12.100
55 800 | 69% [®+H:12.100
55 900 | 63% |%:14.100. £ H:12.500
55 9.800 2%
55 600 | 58% [%:15100. £H:10.700
55 600 | 58% |#:15.100. £ H:11,400
R (FE)-ES R CAE)$ [_J 55 100 | 66% .000. H:9.900
55 .100 66% .000. H:9.900
55 9.900 70%
55 9.900 70% 1,100, £:10.100
55 100 | 66% 10.100
55 .100 66% 10.100
55 100 | 66% 1,600, £ H:10.100
S 55 .100 66% 0,600, H:10,500
55 200 | 69% |H:10.500. £ H:9.900
55 .200 | 69% :9.900
55 900 | 67% [H:10.100. £:11.100. H:10.800
55 900 67% .10
55 100 | 66%
55 .100 66%
RAR CHE) =& R CAE) 5 55 700 | 68%
55 200 | 54% +15.300. H:12,600
55 200 | 69% H:10.900
55 300 | 66% |#:12.000. £H:11.900
558 11.300 | 66%
55 14800 | 55%
558 15800 | 52%
BT 55 11,500 | 65%
558 13100 | 60%
55 10000 | 70%
558 10000 | 70%
55 12500 | 62%
558 700 | 53%
55 200 | 54%
R (FE) =B WA CRE) % [_JLdo1 | 568 .900 [ 69% [A:
JL493 | 55H 300 | 65% |#:13.
JL495 | 55H 10400 | 70% |%+ H:10.600
JL497 | 55H 12900 | 63% |H:12.100, £:13.100. +:10,500. H:12,600
JL499 | 55H 14800 | 58% |2:15.700. T:10.800. H:16.100
TS JL490 | 55H 11,600 | 67% [£:11.400
JLa92 | 55H 11.600 | 67% |AH:11.900 £:12.100
JL494 | 55H 10400 | 70% |%:10.900.  H:12.700
JL496 | 55H 13300 | 62% |2:14.900. T:12.100. H:14.800
JLa98 | 55H 14800 | 58% |@H:15300, £:10.100
R CHE) =1 TR (FIE) 5 |_JL431_| 558 11.000 | 69% |2 +:13.400. H:11.100
JL433 | 55H 15000 | 58% |H:14.300, :15500, £:14,800. H:12.400
JL 558 13300 | 63% A H:12.500
JL 55 10700 | 70% |H£:10.400_ +11.800
JL 558 400 | 60% | H:13.400. 2.600. H:14.300
JL 55 200 | 58% | H:14.900. £:16. 2,600, A:15.600
PATES JL 558 200 | 63% | H:12.900. 0.700. H:9.400
JL 55 200 | 63% |H:12.500. £:10.
JL434 558 10,400 T1% A 9,300, £ H:12,800
JL436 | 55H 11600 | 68% 1.200, %:12.100. £ H:11.800
JL438 | 55H 14,200 | 60% |H H:13500, 2:14,600, £:11,100
JLa40 | 55H 14200 | 60% | H H:13.500, %:14.600, +:11.100

JAL
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LS %FIEER(BA6~8HEES) JAL

EW#EMAA : 2019/05/23 ~

8/6-8
LSRG
E—J8 [

=40]

60% | H X:19.800. %:21.600. £:24.200

60% | F:K:19.800, £:21.600. +:24.200

59% | £:23.200, £:20.700, £:23.400. H:19.700
2% | J7K:19,800, A:21.100

7% | A:16.600, £ H:17.900

7% :15,300, £ H:17.900

KR (5 =4LIR G F k)| KBR (7% %

LI F TR 3 _J [_70% |A:11.400
[ J 68% 3:17.400
J 67% 3:17.900
[ J 69% | +:16.900, H:29.300
[ 53% 1100, %:19.700. £:20.100. H:24,000
53% |/:21,100, #:19,700, £:20,100, H:24,000
KB (BATE) =#LIR (3 F k)| Kk (BdE) % | J 60% | A:18.200
1% K:14,600. £ H:15.900

~
>
&3
~

4,300, A:14.600. + H:14.900
70% | AK:11.400

69% | k7K:14.800, AK:12.400

60% | A<:18,100, H:20.900

AL (BT %) 3

o
Y
=
~

123,300, K:29.900. %:21.400. H:22,500
29,300, 7:29.900, %:20.400. H:21,500
:20.300, % £:20.200. H:20.600
60% _[K:19.100. 7:18,600. % +:20,500
58% | 7K:20.100, :19.600. 2 +:21,500

RRECPE)=XiH5] RRECRE)#

EST RIS

RECRE) =R RERPE)R | J

38% |4

:22.900, £:21.900. H:24.000
2,600, H:21.900

JENTES

59% :19.700. A:17.500. £:20.000. +:20.800. H:21.700

B CRE) =8I R (FE) % £+ H:32.700
42% 30,700, 7:31,400, £ £:27,300

E

| 42% [
55% | A:22.300, £:22.500, 1:22.000. H:22.700

7}

7}

7

58% 7K:19.900, £ H:21,000. 1:22.000
42% :30.900

ElEES

56% |7K:20,400, £:21,500. +:22.000. H:22.500
HERCRE)=%HL ERCRE) % . §:22.100. H:22.000
2,600, 1:23.300
A:23.100. % H:21.600, +:22.300
A:22.800. #:23,100, 1:23.200. H:23.600
B
58%
JL57 i 58%
JL57 ] 58% 21
R CRE) =EfE FR M) # |_JL58S B 52% [ 7k: g 8,800, H:17.100
JL587 I 49% | 7K:19. K:20, 800, +:18,300. H:20.000
JL589 . 38% | 7K:25.900. A:26.600
B JL584 . 56% 8500, +:18.000. H:15.500
JL586 i 55% [ JkK:17.500, £:18.000. £:17.000. H:17.900
JL588 . 38% | 7K:27.500, A:26.800. H:25.900
RR(PE)=MW Hm () % |_JL 66% | H%:12.000, 7K:12.500. A:11.000
JL: 68% | K:13.000, A:11,000
JL: 68% :11.000
JL: 67% 13.400. K:11,000, H:13.300
JL: 67% .000
IS JL: 68% .000. £ H:11.100
JL: 68% .000
JL: 68% .000
JL: 65% .000. £:12.700. H:13.800
JL: 64% .000. +:13.700. H:14.800
RR (PE)-LE Hm CHE) % |_JL25 . 70% £:11.600. £:10.200
JL255 ) 67% 110,200, £:12.500
JL257 . 70% |4
JL259 ) 67% | Jk: .
JL261 . 68% [H: 000, :10.200. £:11.700. B:11.100
JL263 . 68% |H: 000, K:10.200. £:11.700, H:11.100
JL265 5 67% [ k: .200
JL267 67% | k:13, .200
L% JL252 69% [H:1. £:10.300. %:11.300
JL254 65% | JK:1 :11.700
JL256 . 70% |7 :10.400
JL258 . 70% |7 11,800, £:11.700, H:12.400
JL260 67% _|J
JL262 . 70% | &
JL264 66% |4
JL266 I 67% |/
R (PE)=ES R CFIE) 5 [_JL453 ) 66% [
JL455 . 66% |7
JL457 . 66% |7
JL459 . 66% |7
JL461 . 66% |7
JL463 . 66% |7
JL465 . 66% [ JK:
e JL452 . 65% |
JL454 . 66% |7
JL456 . 66% |7
JL458 X 66% |7
JL460 X 66% |7
JL462 X 66% |7 E
JL464 X 66% |/ t H:11.700
R (PE)=E#H HRCRIE) 5 [_JL475 73% |+ H:11.200
JLa77 . 56% | H:14.900, :15.000. 7K:18.300. :12.500, H:14.200
JL479 . 70% | +:12.400. A:12,000
JL481 . 67% | 7K:16.000, A:12.500. % +:13000. H:13.500
JL483 . 67% | 7K:16,000, A:12,500, % £:13,000, H:13,500
JL485 . 60% | 7K:18.500, A:12.500, %:15.200. F:12.400, H:15.600
JL487 . 59% |4 A:12,500, %:15,900, +:13,400, H:16,300
I JLa74 . 64% 112600
JL476 . 59% [K: +:14.700, H:13.200
JL478 71% |+
JL480 . 71% |4
JL482 . 66% |7 E :14.000
JL4g4 . 57% Y 4,200, H:16.000
JL486 X 59% 15,800, £:13.600, H:15.900
HECRB) =B HR CRE) % [_JLo X 61% 113,100, 1:15,600
JL493 59%
JL495 . 68% 00. H:13,800
JL497 67% 00. H:15.100
JL499 60% 100, £:12,700. H:15,900
EEEES JL490 74% 0.800
JL492 66% 3,400, £:13.800
JL494 68% .900
JL496 60% 1,000, A:11,200, %:14,300
JL498 60% 1.200. %:15.800, £:15.500. H:17.400
R CRE) =#l HRCRIE) 5 | JLa3t , 62% 5,400
JL433 58% 114,500
JL435 69% £:13,900, H:15.500
JL437 70%
JL439 59% K:14,500. £:14,900
JL443 58% K:14.500. %:16.800, H:17.400
PIES JL430 . 61% :12.900
JL432 61% :12.900
JL434 74%
JL436 58% . A:11.500. £ H:15.700
JL438 58% K:11.500, H:16,200
JL440 58%
KB (A =% 51 KR () ¢ 66%
e lEd 64%
K (D =H& KB (75 % 46%
42%
51%
EHE | 54% X
49% | %:16,900, £:17.300
46% 7.000




EREAR

2019/05/23

LS %FIEER(BA6~8HEES)

=40]

FH
AR

8/6-8

TS EE

ERE

E=7.

L
EEIES

%5

KBR (5 =FE

KR (751 %

.900

7K:15.400, X 7K:10.900

.800

60%

KR+ H:14,700. 7K:12.600

.300

HER

.600

.600

.500

RIR (D =Ml&

KR (751 %

.800

800

.800

800

.800

800

.800

800

.800

10.500

.800

800

.800

.800

.800

800

B 2 (D) =ALIR (37 7 | & 2 (P ) 34

22,900

12,000

10.200

9.200

8.200

ALIR (BT %) 3

.000

900

.900

.100

] ] Sy ) Y ) ) ) ) ] ) ) ) )y ) Y Y ) ) ] e ) ] ) e B

4.000

7K:20.900, H:14.900

[K:13.100. +:15.700, H:22.200

25,700, 7K:24.000, £:19.800. +:21,000. H:25.900

JAL



TS5 RBEER(BA19~25ABES)

EREEAA : 2019/05/23 ~
8/19-25
=40) o ISR
as |E—
BAE | wix il
RRCAE)-ZE3 | R (HE) % |_J 21,600 | 55% | JkJK:21.300, £:22.000. £:23800
19.600 | 60% [£:22.000. +:22.600
16.000 | 67% |£+:16.900. H:17.900
ES TS 20000 | 59% |H:19.500. £:20,900. H:23.200
21,300 | 56% | %K:20.700, £:22.000. H:23.200
19.400 :20.100. +:19.700. H:22,000
RRCRE) =R ERCRE)FE| J 23.000 :22.300
23.500 50% :23.900
7.300 |_63% £:17.900. H:18.900
6.300 | 65% 1100 +:17.900, H:18.600
FETIES 7.300 | 63% |“JK:16.800, £ H:17.900. £:18.900
,800 60% 20,400, #:18,700, H:22.800
.000 | 51% |%:23.300, H:26.600
.300 65% | :A7K:15.800, +:16.800, H:17.900
R CRE) =8I RRECRE)# 100 59% [ AK:18.500, +:20.800, H:19.700
.600 53% 1,500, £ 1+:23,500. H:20.400
.900 3 118600, H:20.000
EEE3 400 4 :16.900, %:17.600, £:20.000
600 3
.900 1% t:18.500, H:19.700
R (FE)=HK HRCRE) % 7.300 | 62 £:18.000. H:17.900
200 | 58% 9.900. +:21.400, H:20,100
.200 | 60% 8.900. +:20.400. H:19.100
700
HILSE .800
400
.800
700
HR(CRE)=HE ERCRE)FE| J .700
300
200
EER .000
100
,300
R CRE) =R ERCRE) % .300
800
.300
400 £:11.800, H:12.200
.200 2,500, £:13.700. £:10.500. H:11.500
[T .300 10,900
.900 :10.500
.300 :12,300, H:12,100
100 2300, B:13.700
700 12 3300
ER(CAR)=LES BN CRE) % |_JL253 .500 2 114 0.600
JL255 800 0% [H:12, :11.800, H:11.600
JL257 .300 12,
JL259 400 12, 3:12,000
JL261 500 :11.800. B:11.700
JL263 500 | 72%
JL265 800 |65
JL267 300 | 64%
e JL252 1700 | 68% .
JL254 3400 | 64% |H:13.000. %:13.200, £:12.500. H:11.600
JL256 000 | _70% 200
JL258 400 | 69% B 2300, H:12.400
JL260 700 | _66% B 1
JL262 700 | 66% 2
JL264 500 1
JL266 500 3
RECAB) = FR M) # |_JL453 100
JLa55 800
JL457 400
JLa59 1400
JLa61 800
JL463 800
JL465 800
BER JL452 900
JLa54 000
JLa56 000
JL458 500
JL460 500
JL462 ,800
JL464 100
HR (FW) =40 RRCRE) % [ JL491 4,500
JL493 4500
JL495 1,400 N
JL497 2.900 . £:11,500. A:13.900
JL499 4,900 14,200, £:11,300, H:14,600
BT JL490 1.600 :10.900
JL492 2,600 H:11,200
JL494 1.400
JL496 3,300 ,200
JL498 4.900
HRCRE) =t R CRE) % |_JL431 3,400
JL433 5.900
JL435 4,700
JL437 1.300
JL43 5,600
JLa4 6.100
PAES JL43 4,400
JL43 4400 H:11.700
JL434 0,100
JL436 2700 3,800, H:14.200
JL438 5,400 112,200, H:15,300
JLa40 5.400
KB (R =% b5 KPR (25 % | JL2101 5,700
Z@HAE | JL2102 7.900

JAL



TS5 RBEER(8A26~31BEES)

EREEAA : 2019/05/23 ~
8/26-31
P ISR
p E=7.
B 251% W&
BRHE) -KEs | RRCHE) R | J 7.600 | 64% £:17.500. %:18.100
7.600 64% +:17,500, £:18.100
4500 | 70% |K:14.900. %:16.400. £:15.900
EStRTE 400 60% :18.800, +:16.000
400 | 60% :18.800, +:16.000
000 | 67% 6400, 1:14.200
R (FE) =R RRCAEH [ J .800 66% :15.200, £:19.600. £:20.200
300 | 65% | Jsk:15,800, %:20.200. +:22.200
800 | 68% |%:16.700, +:16.500
800 | 68% [%:16. 16,500
JEIES 900 | 68% |%:15.700, £:16.500
.300 65% A7K:15.800, £:15.200, 1:14,900
000 | 51% |%:23.900
600 | 71%
R CRE) =8IE% RRECRE)# 100 65%
600 | 53%
400 | 64%
ElEES .900 66%
20100 | 56%
600 | 66%
HERCRE)=%HL ERCRE) % .200 73%
200 | 60%
200 | 62%
200 | 67%
B 300 | 66% 200, %:16.300. £:16.500
900 | 67% 700, #:16.100. 16,000
900 | 67% 700, %:16.100, £:16.000
200 | 71% 400
R (FIE) =EtE HERCPAEFE [ J .500 59% :17.000
300 | 59% 5400, £:16.200. +:15.200
200 4% 9000, +:15.200
B 500 i 2600, £:13.200. +:14.900
.300 7% :15.700, £:16.700. £:14.500
.300 9% 7900, £:14,000
ER(AER) =8 ERCRE)FE| J .300 72%
300 61% ,600
300 | 61%
800 | 63%
500 | 72%
.500 72% |F
800 | 65%
.300 64% |
&% .700 68%
200 | 64% | H:13400. £:12.800, £:11.100
000 | 70% | k7KA:10.300
300 | 72% | H:11.400. %:11,000. £:12.300
300 7% | H:12.700.
300 H:12.700, 00, £:12.100
100 14500, £:14.300. £:12.300
500 £:1
HECRBR) = HERCRE) % .200 66! 1
1200 | 66% 1
400 | 68% 10.
400 | 68% 1
200 | 66% 1
1200 | 66% 1
200 | 66% 1
S 500 | 65% 1
.000 | 66%
000 | 66%
600 | 67%
600 | 67%
200 | 66%
1200 | 66%
HECRBR) =B RER(PE) R .200 65%
900 | 63%
1.400 | 70% 10.
2.900 | 66%
4.900 | 60% :
T 0900 [ 71% 9,800, £:12.400
1.200 | 70% 11.000, £:12.700
1.400 | 70% 10700, +:10.900
3,300 65% 13,100, £:12,300
4.900 | 60% .000
R CRE)=#l HRCAE) % 2,700 67% ,000, %:12,000, £:14,100
5900 | 58% 200, +:14.700
4,700 500, +:13,800
1.300
5,600 :14,600, 1:12.400
6.100
EATIE S 4,400
4.400
0,100 E
2700 | 67% |£:12.200. F:12.500
5,400 :14,600, 1:11,300
5400 | 60% |£:14.600. £:11.300
RIR (FH =% 53] KR (R % 5,700 70%
A% | JL2102 7.900 | 66%
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